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Exam Date & Time 25-11-2021 03:00:00

Subject : GP_25NOV_SH2_A

Question ID:- 2018
Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female
employees working in five different organisations (A to E). There is a total number of 35,000
employees working in all five organisations.

Organisation [Percentage (%) of Ratio of Male to Female
employees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

anferert & Y 7q srickel & SMyR wR usil & IWwR fSig :

FA=fafEa arferer ofa 9= - 97 @1eHt (A - E) 7 il & ufaera fasne &t ofik gow g #fgen
FHATRAT & rguTed &l g2ifedt g1 Faft g Hwre=t & et 35000 FHARY iR 1

F=ETRAT &A1 TSR fasre= :

e [erarRat d ufaeraar (%)Ig'suaqﬁmaﬁamﬁaﬂaiﬁqm

A 18 % 3.7

B 22 % 11:9




Cc 31 % 3:2

D 15 % 2:3

E 14 % 1:3

What is the ratio of the number of males in Organisation A to the number of males in Organisation
c?

e+ A # qoul il T SR |16 C | YTl hY HE&AT T Sgurd T g ?
Options:-

.18:31/18:31, Option ID :- 8069,

. 7:27/7:27, Option ID :- 8071,

. 9:19/9:19, Option ID :- 8072,

. 9:31/9:31, Option ID :- 8070,
Answer Given:- 9:31/9:31, Option ID : -8070

Question ID:- 2016
Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female
employees working in five different organisations (A to E). There is a total number of 35,000
employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Female
employees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

arfererT & Ry 71q srichel & SmuR wR usi & IR Af[g:

FA=fafEa arferer ofa 9= - 97 @1eHt (A - E) 7 wdaial & ufdera fasnee &t ofik gow g #fgen
HHATRAT & rguTe l g2ifelt g1 Foft gia Hwre=il & et 35000 FHARY iR 1

Fr=TRAY &A1 TrsaR fasre= :




e [RHaTRat Y ufasraar (%)Ig'suanﬁmaﬁmﬁﬁaﬂaﬂm
A 18 % 3:7
B 22 % 11:9
Cc 31 % 3:2
D 15 % 2:3
E 14 % 1:3

The total number of employees in Organisation C is approximately what percent of the total number
of employees in Organisation D?

A C # sdariRal Y et Sz |@ire+1 D J she=niRat Y et deeat ot e fohaem ufasrea & 2
Options:-

«147 %/147 %, Option ID :- 8061,

. 183 %/183 %, Option ID :- 8064,

« 207 %/207 %, Option ID :- 8063,

« 312 %/312 %, Option ID :- 8062,
Answer Given:- 207 %/207 %, Option ID : -8063

Question ID:- 2020
Based on the data in the table, answer the questions that follow
The following table presents the percentage breakup of employees and the ratio of male to female

employees working in five different organisations (A to E). There is a total number of 35,000
employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Female
employees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees




anferert & 2y 7q srichel & SmuR wR usil & W fSig :

FA=fafEa arferer ofa 9= - 97 et (A - E) 7 sdaial & ufaera fasne &t ofik gow g #fgen
FHATRAT & rguTe &l g2ifelt g1 Foft i Hwre=it & et 35000 FHARY iR 1

FH=TRAY &1 TirsaR fare= :

e [HaTRat Y ufaaraar (%)Ig'suanﬁma?ﬂamﬁaﬂaiﬁqm
A 18 % 3:7
B 22 % 11:9
Cc 31 % 3:2
D 15 % 2:3
E 14 % 1:3

What is the sum total of the number of females in Organisation D and the number of males in
Organisation E?

e D # wfeeal Y S ok Wire E § gt Y St 1 get ahT a 27
Options:-

.4375/4375, Option ID :- 8077,

. 4475/4475, Option ID :- 8078,

. 4500/4500, Option ID :- 8079,

. 4875/4875, Option ID :- 8080,
Answer Given:- 4375/4375, Option ID : -8077

Question ID:- 2019
Based on the data in the table, answer the questions that follow
The following table presents the percentage breakup of employees and the ratio of male to female

employees working in five different organisations (A to E). There is a total number of 35,000
employees working in all five organisations.

Organisation |Percentage (%) of Ratio of Male to Female
employees employees
A 18 % 3:7

B 22 % 11:9




C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

aiferent # fog 7T sriehsSt & SR R usil & IR AfSg:

FA=faf@a arferer ofa 9= - 97 @1eHt (A - E) 7 il & ufaera fasne &t ofik gow g #fgen
FHATRET & guTd & g2t &1 a3t i el # et 35000 FHARY Friwd &1

FHHaIRET o1 HeaR fvre
e [RHaTRat Y ufasraar (%)Ig'suanﬁmmﬁﬁaﬂaﬁm
A 18 % 3:7
B 22 % 11:9
Cc 31 % 3:2
D 15 % 2:3
E 14 % 1:3

What is the difference between the number of females in Organisation E and the number of
females in Organisation B?

e E # #Afgersit i dweam ok e+ B # #fgersit i wweam o siar g ?
Options:-

.170/170, Option ID :- 8075,

. 210/210, Option ID :- 8073,

. 300/300, Option ID :- 8076,

. 350/350, Option ID :- 8074,
Answer Given:- 210/210, Option ID : -8073

Question ID:- 2017
Based on the data in the table, answer the questions that follow

The following table presents the percentage breakup of employees and the ratio of male to female
employees working in five different organisations (A to E). There is a total number of 35,000
employees working in all five organisations.




Organisation |Percentage (%) of Ratio of Male to Female
employees employees

A 18 % 3:7

B 22 % 11:9

C 31 % 3:2

D 15 % 2:3

E 14 % 1:3

Organisation-wise Breakup of Employees

arferert & 27 710 srichsl & SMyR wR wsil & SR &fSig :

Frafaf@a arfeenr e 3= - 9= @1eHl (A - E) & sdaRal & ufaa s &t ofk gou g afger
FHARET & Jrgurd & gaafdt g1 @+t = et # et 35000 FHHAT FriRd &

HHAIRYT 1 AR faseH
e [eaTiRal Y ufasaar (%)Ig?uanﬁmmﬁu’fanaﬁm
A 18 % 3:7
B 22 % 11:9
Cc 31 % 3:2
D 15% 2:3
E 14 % 1:3

What is the total number of males in all the five organisations together?
Toft e STl Rt FetTeRy qeut Y et T T & 2

Options:-

.13350/13350, Option ID :- 8065,

. 14700/14700, Option ID :- 8066,

. 15960/15960, Option ID :- 8067,

. 16280/16280, Option ID :- 8068,
Answer Given:- 14700/14700, Option ID : -8066

Subject : GP_25NOV_SH2_B

Question ID:- 2042




A man weighs 75% of his own weight plus 39 Ibs. How much does he weigh?

Ueh Af<h T o1, 31U T & <1 bl 75% 3R 39 UISUS g1 IHehT aIdfdeh aoi ST g ?
Options:-

«156 Ibs/156 UI3US, Option ID :- 8167,

. 160 Ibs/160 U13Uus, Option ID :- 8166,

. 165 Ibs/165 UI3Us, Option ID :- 8165,

. 166 Ibs/166 U130s, Option ID :- 8168,
Answer Given:- 166 lbs/166 UI3Us, Option ID : -8168

Question ID:- 2058

Match List I with List Il

[List | [List II

Disease [Mode of spread

A. Cholera [I. Lack of water to maintain cleanliness

B. Trachoma [I1. Involves water contact but not ingestion
C. Schistosomiasis [l11. Ingestion of polluted water

D. Dengue |IV. Requires host

Choose the correct answer from the options given below:

Tt - 8 g -1l @ AR AN

gt -l gt -l

Gi)) (TR a1 d¥ia)

A. gom [I. T T & fog w1t &1 31T

B. gT (e<hiHT) [lI. 55 STt & |k giaT 8 W dUgr el
C. Ittt |l vgfa e @1 siqgor

D. <7 [IV. Ryttt Y srrasgena gidt 8

= g g fAereat o @ @t SR g

Options:-

«A-1,B-1Il,C-1I,D - IV, Option ID :- 8232,
«A-11,B-1II,C-IV,D - I, Option ID :- 8229,
«A-1Il,B-1,C-1l,D - IV, Option ID :- 8231,

«.A-lll,B-1,C-1V,D-Il, Option ID :- 8230,
Answer Given:- A-1ll,B-1,C-Il, D - IV, Option ID : -8231

Question ID:- 2039

Information provided before sending the primary message is known as

T TEer Jor & gt &) ST areft =T R hgd @

Options:-
.Feed forward/sm1 gf® (thie wikas), Option ID :- 8156,




. Indicator/Tehereh, Option ID :- 8154,
. Intro/af=m, Option ID :- 8153,

. Pre-message/gd - &&z2r1, Option ID :- 8155,
Answer Given:- Intro/af¥=ra1, Option ID : -8153

Question ID:- 2035

Match List | with List Il

List | [List I

Scale [Characteristics

A. Arbitrary Scale [I. Attitude statements are decided by judges

B. Thurstone Scale [Il. Summated ratings

C. Likert Scale [l11. Consists of seven spaces between two bipolar adjectives
D. Semantic differential |IV. Questions are selected on an a priori basis

Choose the correct answer from the options given below:

g -1 6t g -1l | gAfera fifeg:

g -1 = -l
(| (fargtwam)
A. 95T . srfRgha syt a1 Aok FRotraaTon grR

ATa ERISIGIE]
B. ¥4
: |u.m|aaaﬁ1%-ﬁm
C. forerd . 399 & s faLtuon & dfa ara siare
ATg= g &l

D. 21T} .
it ||v.u$ﬁairau=rumuﬁasanmg’|m%

12 Ry g et § @ wdt s gfg:
Options:-

«A-1,B-1l,C-Ilil,D - IV, Option ID :- 8137,
«A-Il,B-Illl,C-1V,D -1, Option ID :- 8140,
«A-1I,B-IV,C-1,D-Il, Option ID :- 8139,

«A-1V,B-1,C-Il D -Illl, Option ID :- 8138,
Answer Given:- A-1V,B-1,C- I, D - lll, Option ID : -8138

Question ID:- 2028
Given below are two statements

Statement I: In all interactions, a message is sent and a message is received. Sometimes teachers
believe they are sending one message, but their voices, body language, choice of words, and
gestures may communicate a different message.

Statement II: To deal with cyberbullying, parents should be encouraged to keep computers in a
public room in the house.

In light of the above statements, choose the most appropriate answer from the options given below




TR rufRRumgg:

&Y - | goft erai=aferaneit A wen Ser dita foarar Sirar & ofik wen Ger &t srfmgur farar siar &1 sft
- poft freres A € 6 & gas 31 9T 3@ €, uRg SWa g foh ST siramst, QiR T, Qregl o 9ue 9k
v WS o o= Hiar @ifta st gl

&Y - || : "HIEeRIAST @ AU & forg wrgedt o )® & adeie we d @A & Qg siffvmaasl @
weaifad &t Tnfaul

IWRIh hYAT & frelias |, = Ry o Reveal & @ 9t IR o1 9a= fifSig :

Options:-

.Both Statement | and Statement Il are correct/au | 3R Il g1 9t &1, Option ID :- 8109,

. Both Statement | and Statement Il are incorrect/e&hd= | 3R Il &1 i &1, Option ID :- 8110,

. Statement | is correct but Statement Il is incorrect/&Y= | 98l &, fah=g Y= Il 7T 1, Option ID :-
8111,

. Statement | is incorrect but Statement Il is correct/&y= | 7TeTd &, foheg U= |1 EEI 81, Option ID :-
8112,

Answer Given:- Both Statement | and Statement Il are correct/srd | 31 Il &4 9gt &1, Option ID :
-8109

Question ID:- 2029

Match List | with List Il

[List | [List I

Ericson's Psycho-social development [Stage

A. Intimacy vs. Isolation |l. Normally after retirement
B. Ego integrity vs. Despair [I. Much of adulthood

C. Generativity vs. Stagnation [l11. During adolescence

D. Identity vs. Confusion [IV. During the 20s

Choose the correct answer from the options given below:

g -1 g -1 @ gEfea Ao

gt -l (&=t -1

(QRerT 7= - ATk farer) ((wRon)

A. 9f_edT S QehrchIg= [I. sTT=TE: derfAgi & A
B. 31gH TSI a7 W 1en  |Il. T4 Site & a1 fawt 7
C. SHITeHeRdT ITH TMagtar (Il fererRreeyr 3

D. 3ff&Rar a9 wif=a [IV. 20 & 29 &l Y amg |
= g g faereal & @ Wt R gfAg:
Options:-

«A-1,B-1,C-1Il,D -1V, Option ID :- 8114,
«A-1,B-1l,C-1V,D -1, Option ID :- 8115,
«A-llLB-IV,C-1,D-Il, OptionID :- 8116,

«A-1V,B-1,C-Il,D-Ill, Option ID :- 8113,
Answer Given:- A-1ll,B-1V,C-1,D - Il, OptionID : -8116

Question ID:- 2053




Given below are two statements
Statement I: Tablet computers have touch screens.
Statement II: A tablet computer has a keyboard.

In light of the above statements, choose the correct answer from the options given below

fatFuafeumgd:

&Y - | : TTE FFISH & uTH =° FhiF gl gl

&Y - |l : Geh ¢aeie e A 9l glar gl

IWRI<E YAl & et J, 1 R g fereat 7 @ 9dl SR o1 9= fifsig :

Options:-

.Both Statement | and Statement Il are false/ay | 3R Il g1 319 g1, Option ID :- 8210,
. Both Statement | and Statement Il are true/&¥H | 3iRR 11 41 9 &1, Option ID :- 82009,

. Statement | is false but Statement Il is true/&¥= | 319 ¢, foh=g &Y= 1| ¥ g1, Option ID :- 8212,

. Statement | is true but Statement Il is false/&u=T | §g & , foheg &Y= Il 319 &1, Option ID :-
8211,

Answer Given:- Both Statement | and Statement Il are true/sy | 3R Il g1 T &1, Option ID :
-8209

Question ID:- 2027

"Contagious” spreading of behaviours through imitation, is known as

ST & ATLAH & AGERI &1 "Hidfifeh" THR Thgerdn & -
Options:-

.Norm effect/daT-<s UHTd, Option ID :- 8108,

. Random effect/argfe®a& uwra, Option ID :- 8105,

. Ripple effect/f# uma, Option ID :- 8106,

. Scripted effect/ffag wata, Option ID :- 8107,
Answer Given:- Ripple effect/&f# wura, Option ID : -8106

Question ID:- 2045

Answer the following statements?

A. At 5% rate of simple interest, a certain sum will be doubled in 15 years.

B. A sum becomes double in 10 years. The annual rate of simple interest is 12%.

C. 1000 will become ¥1331 in 3 years at compound interest rate of 10% per annum.

Which of the above statements is/are CORRECT?

fAfaf@a FyEt R AR fifsg :
A. 5% HTURUT g1eT Y & &R, Gah Affa afr 15 auf J gt gt st g1




B. Gk Af2A 10 gt # gt gt St @1 JruRoT sgret &t aiftfes &= 12% 81

C. <fi= auf & 21000, 21331 g TG, 10% FTATT ATk Tehqies TS Y & W
H fRw 71v faeredl # @ 9@t IR &1 9u_ hifSie .

Options:-

.A and B only/&ae A 3R B, Option ID :- 8180,

. A and C only/aaet A 3R C, Option ID :- 8178,

. B and C only/awaet B 3iR C, Option ID :- 8179,

. C only/ha«t C, Option ID :- 8177,
Answer Given:- C only/ehas C, Option ID : -8177

Question ID:- 2049

Match List | with List Il

List I [List I

A. Samanyalaksana |l. Intuitive perception of all objects- past, distant and future due to
Pratyaksa supernormal powers generated by meditation

B. Jhana Il. When objects are not actually present to sense but are conveyed to it

Laksana Pratyaksa [through a special medium

lll. Perception of an object which is in contact with sense through previous

C. Yogaj Pratyaksa knowledge of itself

D. Alaukika

Pratyaksa |IV. The perception of a whole class of objects through a generic property

Choose the correct answer from the options given below:

Tt - 8 g -1l @ AR AN

it -l g -1l

A. . <19 ¥ IUF AT Afhal & RoT Gt
ATHTIIETUT (g2t & ¥d, €Y Gd Hias &1 1= UFea
el & giar @

B. I Il. ST geTd araq | it aq Sufeda =gl af
T&T0T g el Qe Ay Arend & w1 U &

C.airs1  [IIl. foreht ueref oh1 u=afien?or STt s < dueh &
[reaar , 39 gd - 9 & gRT

D. 3feitfehen |IV. ugrt & 9wy ot a1 ucaafterzur, STifa o wreaw
Teael

7 fig g faereat & @ Ot R g :

Options:-

«A-1,B-1Il,C-1I,D - IV, Option ID :- 8194,
«A-11,B-1,C-1Il D - IV, Option ID :- 8193,
«A-1Il,B-1I,C-1,D - IV, Option ID :- 8196,

«A-1V,B-Ill,C-1,D-Il Option ID :- 8195,
Answer Given:- A-ll,B-1l,C-1,D - IV, Option ID : -8196

Question ID:- 2059

Which one of the following Sustainable Development Goals (SDGs) is related to sustainable




consumption and production patterns?

fPA=feafaa d @ &= - a1 Surcfia Qe @eg (gu & i) durfia st ok I & o 4 S&6fda
g2

Options:-

.SDG 10/T9 €t Sft 10, Option ID :- 8234,

. SDG 11/ga 3t St 11, Option ID :- 8235,

. SDG 12/Tq 3} Sft 12, Option ID :- 8236,

. SDG 9/gH €t Sft 9, Option ID :- 8233,
Answer Given:- SDG 10/g¥ €t Sft 10, Option ID : -8234

Question ID:- 2034

Given below are two statements

Statement I: Qualitative research is impressionistic and subjective.

Statement II: Quantitative research has a higher level of possibility of generalising the findings.

In light of the above statements, choose the correct answer from the options given below

TRgtrufRumgd:

&Y - | : TOTTeHE MY YHTaardt ik fawafas ghar g1

&Y - || : gRATOIeH Mty # Iuafdl ot am=iihd e &t ITaar TR Ft GH1a=T gl g1
IWRI<H YAl & 3Tl #, = fow 7o faeareat | 9 IR =1 7g+ FHifSw :

Options:-

.Both Statement | and Statement Il are false/& | 3R Il ST 319 &1, Option ID :- 8134,
. Both Statement | and Statement Il are true/e&ry= | 31 Il &1 < &1, Option ID :- 8133,

. Statement | is false but Statement Il is true/&u= | 31 &, foh=g Y= || ¥ &1, Option ID :- 8136,

. Statement | is true but Statement Il is false/&¥= | 91 &, foheg ®Y= Il 3rF=7 g1, Option ID :-
8135,

Answer Given:- Both Statement | and Statement Il are true/ey | 3R Il &1=1 @ &1, Option ID :
-8133

Question ID:- 2052

Arrange the following optical storage devices in increasing order of their storage capacity.
A.DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below:

fA=ifera siffeerer WSRUT/TdhslehiuT IUHRUT ehl ITh HUSRUT &A1 & dad shH | eaafedd fifSg :
A. @&




B. €. &, - 31R.311.UH.

C.sq-

H fRw v faeredl & @ @t 3R &1 9u_ hifSie .
Options:-

.A, B, C/A, B, C, Option ID :- 8205,

. A, C,B/A, C, B, Option ID :- 8207,

. B, A C/B, A, C, Option ID :- 8206,

. B,C, A/B, C, A, Option ID :- 8208,
Answer Given:- B, C, A/B, C, A, Option ID : -8208

Question ID:- 2036

Media kits are used in

Hifear forel (smazaes axgsi) o1 val fha# glar g ?

Options:-

.Classroom communication/ar&iT Suwur, Option ID :- 8143,

. Confidential communication/Mu-a Evwor, Option ID :- 8141,
. External communication/aTg] Suwur, Option ID :- 8144,

. Internal communication/3tidikes Tuwor, Option ID :- 8142,
Answer Given:- External communication/aTg] Swiwor, Option ID : -8144

Question ID:- 2057

In which year did the first commitment period of the Kyoto Protocol come to an end?

el viciele & uge ufaagar &ret a1 3id fora af F garm ?
Options:-

.2008/2008, Option ID :- 8228,

. 2011/2011, Option ID :- 8225,

. 2012/2012, Option ID :- 8226,

. 2014/2014, Option ID :- 8227,
Answer Given:- 2008/2008, Option ID : -8228

Question ID:- 2061

What does NIRF stand for?

U 3118 3R UG (NIRF) & quf Su aam g ?

Options:-
.National Institute of Ranking Federation/A2re1 §fReeye 31t ¥k thalar, Option ID :- 8241,
. National Institute of Ranking Framework/42e $f®ege sitth w1 thaadh, Option ID :- 8242,




. National Institutional Ranking Federation/a2ret gfeegare Ik theizr, Option ID :- 8244,

. National Institutional Ranking Framework/a2 §feegere ¥ thadh, Option ID :- 8243,
Answer Given:- National Institutional Ranking Framework/A21e1 EfReejarset et thaadh, Option ID
:-8243

Question ID:- 2037

Non-verbal communication makes use of-
A. Behaviour to generate meanings

B. Emotional meanings

C. A non-clear system of rules

D. Verbal finessé

E. Clarity in abstraction

Choose the correct answer from the options given below:

Sferfeer Tvwor faherent wrahT et & ?

A. 31 IUF FA & fAT TaER

B. HTa-TeHeh 372

C. frast Y 7R - we goreh

D. erfeder hiaret

E. 9R 7gur & Tqedr

H fow 7 et A @ 9@ IR &1 9u= fifSw:

Options:-

.A, B and C only/aeet A, B 3R C, Option ID :- 8145,
. A, B and E only/&ha<1 A, B 3iR E, Option ID :- 8148,
. B, C and D only/<ha«t B, C 3R D, Option ID :- 8146,

. C, D and E only/haet C, D iR E, Option ID :- 8147,
Answer Given:- A, B and E only/eaet A, B 3fR E, Option ID : -8148

Question ID:- 2050

The example 'sound is eternal because it is caused' represents which of the following Hetvabhasa

'ereg/ af A &, aaifer @ Iau= forg o1d €1 ' ag sergvvr, A=faf@a d frg gamya @ dag 27
Options:-

.Ashrayasiddha/3msraTf@g, Option ID :- 8197,

. Kalatita/erreITefid, Option ID :- 8200,

. Svariipasiddha/Ta%=ufg, Option ID :- 8198,

. Viruddha/fag, Option ID :- 8199,
Answer Given:- Svarupasiddha/T==uffg, Option ID : -8198




Question ID:- 2046
Match List I with List Il

Consider the following in the context of the Square of Opposition of Propositions

[List I List Il

Propositions Square of Opposition

A. If 'A' is False I.'A'and 'I' are False

B. If 'E'is True [Il. 'E' is False; T is True

C. If 'I'is False [l1I. 'E' and '0' are True

D. If 'O is True [IV.'E' and 'I' are Undetermined

Choose the correct answer from the options given below:

Tt - ) g -1l @ A AN

gt -l gt -l

A. 3R 'A' 31T 21 [I. ‘A R T 3T &1

B. 3FR 'E' 319 &1 . E' srae @; ' I 81
C. 3FR 'I' 3/ & . 'E' 3R '0' & &

D. 3R '0' 319 g1 IV. 'E' 3R 'I' srfAerted &1
1 g g faereal & @ st R gfg:

Options:-

«A-1,B-1l,C-IIl,D -1V, Option ID :- 8181,
«A-1,B-1l,C-1V,D -1, Option ID :- 8182,
«A-lll,B-1,C-1I,D-IV, Option ID :- 8183,

«.A-IV,B-1,C-Ill,D-Il, Option ID :- 8184,
Answer Given:- A-1ll,B-1,C-1l,D -1V, Option ID : -8183

Question ID:- 2040

Given below are two statements

Statement I: People use non-verbal cues more than verbal cues.
Statement II: Non-verbal cues have better believability than spoken words.

In light of the above statements, choose the correct answer from the options given below

M FuafRemgd:

HYU - | ; ANT eanfeer Tehal A 31fder srenfeder Hahal T TANT e &l

FHUA - || : 3rnfeeer Hohaw | arfara ereal & srder dgar fayafiaar gidt 81
IWRIH YT & 3MTeteh |, = Ry 1y fasreul & I 9t IR &1 997 fifSig :

Options:-

.Both Statement | and Statement Il are false/&y | 3R Il AT 319 &1, Option ID :- 8158,

. Both Statement | and Statement Il are true/&¥H | 3iR 1l g1 9 g1, Option ID :- 8157,

. Statement | is false but Statement Il is true/& | 319 g, faheg &Y= Il &= &1, Option ID :- 8160,




. Statement | is true but Statement Il is false/&u= | I &, fah=g &Y= Il 3/ &1, Option ID :- 8159,
Answer Given:- Statement | is true but Statement Il is false/&¥= | ¥4 &, foheg Y= 1l 39T 81,
Option ID : -8159

Question ID:- 2047

Name the fallacy committed in the argument
All dogs are mammals.

No cats are dogs.

Therefore, no cats are mammals.

Choose the correct answer from the options given below

ash & 2TV o1 A g

gt gt T=aT g1 g1

hig fereeft e =1t 21

31d: e fAeeht TR 81 81

Options:-

.Existential Fallacy/3f=aarél g=rwm, Option ID :- 8188,
. lllicit Major/3ta< |1ed, Option ID :- 8185,

. lllicit Minor/31a< uef, Option ID :- 8186,

. Undistributed Middle/3ifaifSe &g, Option ID :- 8187,
Answer Given:- Undistributed Middle/stfafSia &g, Option ID : -8187

Question ID:- 2062

The term 'open learning' represent approaches that focus on

A. Opening access to education and training provision

B. Freeing learners from the constraints of time and place

C. Learning and evaluation without a specified curriculum

D. Offering flexible learning opportunities to individuals and groups of learners
E. Making students free from any educational loads

Choose the correct answer from the options given below:

fFrafafaa d | fFawR wm Fia F3 aret Jurmt & 'ges siftem (situ= @f+) ereg gafar @ 2
A. fram T uferor & araur &t uga J @

B. 9HY 3R T Y Hiwrai @ fRrenffat ot g e

C. foreht fafre ursa=af & = sfinm ofik geaicn

D. safral oz fAramff wgl &t a<fiet i sraeR ve &

E. forelt @i wr & fenfaf ot g=6 @t




H fRw 71e faeredl & @ @l SR &1 9u_ hifSie .
Options:-

.A, B and D only/&ae A , B 3iR D, Option ID :- 8246,
. A, B and E only/&a A, B 3R E, Option ID :- 8247,
. A, B and C only/ahaet A, B 31k C, Option ID :- 8245,

. B, C and D only/ha< B, C 3R D, Option ID :- 8248,
Answer Given:- A, B and D only/deet A, B 3fR D, Option ID : -8246

Question ID:- 2026

What is the name of the score the student would get if the measurements were completely
accurate and error-free?

afg A9+ gofaar @éia sk Fexfed &, at Remfi #t e a« urais wFram @ g ?

Options:-

.I-score/31T3 - UTieh, Option ID :- 8101,

. Neutral score/de< UTtdiah, Option ID :- 8102,
. True score/ardfaeh UTwieh, Option ID :- 8103,

. Z-score/SIS - UTdieh, Option ID :- 8104,
Answer Given:- True score/dT&ifaeh Uik, Option ID : -8103

Question ID:- 2060

What fraction (%) of the total primary energy used in India is derived from biomass?

WR # T i ST areft et urafie Setf o1 &l - a1 faen (%) Sasgfa (aria) @ Sz glarg ?

Options:-

., Option ID :-,

« 22%/, Option ID :-,

« 22%, Option ID :- 8240,
. , Option ID :- 8240,

« 32%/, Option ID :- 8240,
« 32%, Option ID :- 8237,
. , Option ID :- 8237,

« 42%/, Option ID :- 8237,
« 42%, Option ID :- 8238,
» , Option ID :- 8238,

« 56%/, Option ID :- 8238,

« 56%, Option ID :- 8239,
Answer Given:- ~ 32%/~ 32%, Option ID : -8237

Question ID:- 2065
India has been attracting only a fraction of international students because of




A. Lack of residential accommodation for foreign students
B. Difficulties in recognition of international qualification
C. Rigid admission process

D. Lack of enthusiasm among teachers

E. Lack of enthusiasm among students

Choose the correct answer from the options given below

WRd # e FRUT aga & siqwrgia fendff smad @ € 2
A. fa=ft st & fag smarwfta gfaur & srvma

B. SidWTEH IivgaT &l AT USH & # Ffdrgar
C. 3+ vt ufehar

D. frefehl A IHTE T U

E. ferenfdfat & S8 &1 S1vma

H e v fAereal & @ 9@ 3R &1 9u_ fifSie .

Options:-

.A and B only/&ae A 3iR B, Option ID :- 8257,
. B and C only/ahaet B 3iR C, Option ID :- 8258,
. C and D only/@a«t C 31k D, Option ID :- 8259,

. D and E only/&a D 3R E, Option ID :- 8260,
Answer Given:- B and C only/&a« B 3R C, Option ID : -8258

Question ID:- 2030

Which among the following are components of decision traps to illustrate what needs to be a
possible evaluatory framework to monitor the learning process?

A. Overconfidence

B. Coaching

C. Frame blindness

D. Taking shortcuts

E. Persistent misconception

Choose the correct answer from the options given below:

sifrm uferar ft ARt & forg Twfaa gegisareas atan an g, ag g 7 smAare Aol tel
(Feflrem 3u) & ueas RfAf@a dd & 2

A. stfasga
B. argfaror

C. %hy 3iYdr




D. 21& - e &=

E. TUrft A - gyron

H fRw 71v faeredl & @ @t 3R &1 9u_ hifsie .
Options:-

.A, C and D only/&a A, C 3R D, Option ID :- 8117,
. A, D and E only/&at A, D 3R E, Option ID :- 8118,

. B, C and D only/<ha«t B, C 3R D, Option ID :- 8120,

. B, D and E only/awa«t B, D 3R E, Option ID :- 8119,
Answer Given:- A, D and E only/&as A, D 3R E, Option ID : -8118

Question ID:- 2051

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason
R

Assertion A: A good computer networking solution can be very much beneficial for your business.

Reason R: With computer networking, you can cut back on costs and allow for efficient use of
resources.

In light of the above statements, choose the correct answer from the options given below

H gt Fu= Ry g § : Uak sifAR Y= (Assertion A) & w0 H 3R gERT 3H%h HRUT (Reason R) &4 H :
fHHUA (A) : Toh ST HrgeR Aeafhit Gicge 3Tud AR & fog sifasrvieras gt @aar g1
@RI (R) : thex Aeafhit & |1, T AT A & Hohd ¢ SR THIUAT h BelledTgeh TaNT o Tehd g1

IWRI<H YAl & 3iTeles 7, i fRu faereal # | 9t IR =1 og= HifSiw :

Options:-
.A is false but R is true/(A) 3194 g, U3=] (R) &< &1, Option ID :- 8204,
« Ais true but R is false/(A) &< &, U] (R) 3/ g1, Option ID :- 8203,

. Both A and R are true and R is the correct explanation of A/(A) 3iR (R) giHI g g 31k (R), (A) i
gl eare=T g1, Option ID :- 8201,

. Both A and R are true but R is NOT the correct explanation of A/(A) 3fi® (R) aiFii & § W= (R),
(A) <hY Tt sarear g1 21, Option ID :- 8202,

Answer Given:- Both A and R are true and R is the correct explanation of A/(A) 3R (R) &9 91 &
3R (R), (A) ht Tl =ar==aT g1, Option ID : -8201

Question ID:- 2038

A competent communicator is
A. Culturally neutral

B. Culturally sensitive

C. Totally ethical

D. Situationally ethical

E. An effective listener




Choose the correct answer from the options given below:

ety Uy T gidar g ?

A. Hitpfae ®9 & devy

B. Qitpfaes &0 @ Haeafie

C. gufaar Afaw

D. feufa & srgar Afae

E. Qeh UHTt sitar

H fow e et # | 9l IR &1 9u= fifw :

Options:-

.A, B and C only/&ast A, B 3R C, Option ID :- 8149,
. B, C and D only/&a« B, C 3fiR D, Option ID :- 8150,
. B, C and E only/aa«t B, C 3R E, Option ID :- 8151,

. C, D and E only/dha«1 C, D 3R E, Option ID :- 8152,
Answer Given:- B, C and E only/awa<1 B, C 3R E, Option ID : -8151

Question ID:- 2043

Ravi's salary is increased by 20%. On the increased salary, the tax rate is 10% higher. The
percentage increase in tax liability is

o &1 A9 20% T 3T AT 9@ g dAa ur e R &R 10% Surer St 81 wR Smar A ufaa g @
Options:-

«20 %/20%, Option ID :- 8169,

« 22 %/22%, Option ID :- 8170,

« 23 %/23%, Option ID :- 8171,

« 24 %/24%, Option ID :- 8172,
Answer Given:- 22 %/22%, Option ID : -8170

Question ID:- 2033

Which of the following are the essential characteristics of the case study method?
A. Negatively oriented

B. Appreciation oriented

C. Particularistic

D. Descriptive

E. Inductive

Choose the correct answer from the options given below:

Frafaf@a 7 @ Fi9-8 F9-sreag= RAfY fir srffard fastvard & 2




A. THRIHE &Y 3R 3@

B. Hgd &7 &t sk 3@

C. fafreamardt

D. gufrenen

E. SIRTHATHS

H fRw v faeredl & @ 9@t IR &1 9u_ hifSie .
Options:-

.A, B and E only/&as A, B 3R E, Option ID :- 8132,
. A, B and C only/@haet A, B 31k C, Option ID :- 8129,

. B, C and D only/<ha«t B, C 3R D, Option ID :- 8130,

. C, D and E only/&a<1 C, D 3R E, Option ID :- 8131,
Answer Given:- C, D and E only/ea«t C, D 3fR E, Option ID : -8131

Question ID:- 2056

If the wind speeds increase from 4.0 m/s to 5.0 m/s, the power output from an ideal windmill will
increase by a factor of about

afg gat &Y i 4.0 #ft. / & @ ggw= 5.0 H/A gt et 8, 9t ek sneef e gk @ e g1 aret faega
IeTe # T et o TR | g ghft 2
Options:-

.~ 4/74,

Option ID :- 8223,

.~ 5/75,

Option ID :- 8224,

e~ 2/772,

Option ID :- 8221,

.~ 3/73,

Option ID :- 8222,

Answer Given:- ~ 5/7°5, Option ID : -8224

Question ID:- 2063

In CBCS, Ability Enhancement Courses are of two kinds. They are:
A. Ability Enhancement Compulsory Courses

B. Skill Enhancement Compulsory Courses

C. Ability Enhancement Elective Courses

D. Skill Enhancement Elective Courses

E. Skill Enhancement Courses

Choose the correct answer from the options given below:

CBCS # atvgdr Gadfq ursashA St UhR hgld g1 9 & :




A. gtrgar dad= sifaard arsasa

B. epieret Hae sifeamd ursasha

C. givgan Had derfren uTeashd

D. Shleret Hae depfeter aTaashd

E. hlerer o ureashd

H fRw v faeredt & @ 9@t IR &1 9u_ hifSie .

Options:-

.A and C only/aa« A 3R C, Option ID :- 8250,
« A and D only/daet A 3R D, Option ID :- 8251,
. A and E only/d&aet A 3R E, Option ID :- 8252,

. A and B only/&a<1 A 3R B, Option ID :- 8249,
Answer Given:- A and D only/awa<t A 3R D, Option ID : -8251

Question ID:- 2054

Which of the following statements about desktop and laptop computers are TRUE?
A. Most modern laptop computers have built-in webcams

B. Desktop computers are not very portable

C. All desktop computers have built-in touchpad

D. Laptop computers are rarely supplied with a mouse

Choose the correct answer from the options given below:

3%helY R AUeiy FFgeR & aR A AFifha sy d g g ?

A. fArarar yfAes dueia FregeR d a9 - &H ggdt @ o gai giar 8l
B. STHelT HFe dagd fAeh TUHIGROT - aF g 81 gid &1

C. gt Sxpeiy vyl d faee - e - G glaT 81

D. AUty sregest i amgfet AW & ATy agd & w9 uRkfeafaat # gidt 21
H fRw v et A | 9 IR &1 9u= fifSw :

Options:-

.A, B and D only/&aet A, B 3R D, Option ID :- 8214,
. A, B and C only/aha«t A, B 3R C, Option ID :- 8213,
. A, B, C and D/A, B, C 3Rk D, Option ID :- 8216,

. B, C and D only/<ha«t B, C 3R D, Option ID :- 8215,
Answer Given:- A, B and D only/&aet A, B 3R D, Option ID : -8214

Question ID:- 2064

Which of the following is a private university?




FA=afafEa 9 @ &= a1 Ash fayfReaea g 2

Options:-

.Anna University/3ra1 fagjfaenea, Option ID :- 8253,

« BITS pilani/faes (BITS) fa=r=, Option ID :- 8254,

. Burdwan University/a€ar= fagjfaensa, Option ID :- 8255,

. NIT/31g afrg amg & (INIT), Option ID :- 8256,
Answer Given:- BITS pilani/facs (BITS) fa=r=t, Option ID : -8254

Question ID:- 2055

Match List | with List Il

List I [List Il
(Computer Terms) [(Examples)
A. Operating system [I. Pentium
B. Application software |II. Linux

C. Processor [ll1. Router

D. Network Device [IV. Anti-virus

Choose the correct answer from the options given below:

Tt -1 8 g -1l @ AR AN

g -1 g -l
(FFeR U3) (S2TEv0N)

A. 3iTgefeT fen |I. dfRTw

B. UfteIchaq Qivedar [II. STETe

C. TR . e

D. Aeadh farsy Iv. ¥t - ez
= g g fAereat & @ @@t SR g

Options:-

«A-1,B-1IV,C-1I,D - Il Option ID :- 8217,
«A-1I,B-1V,C-1,D - I, Option ID :- 8218,
«A-1I,B-1V,C-1ll, D -1, Option ID :- 8219,

«A-1lIl,B-1I,C-1,D- IV, Option ID :- 8220,
Answer Given:- A-1l,B-1V,C -1, D - lll, Option ID : -8218

Question ID:- 2031

The rationalistic mode of knowledge accepts the rules of

T oAl Jfgardt uhR fohads fRaw aar g 2
Options:-

.Authority/d=T, Option ID :- 8124,

. Legality/aerar, Option ID :- 8121,

. Logic/achamd, Option ID :- 8123,




. Manipulation/g¥%R, Option ID :- 8122,
Answer Given:- Logic/deh?IT&, Option ID : -8123

Question ID:- 2032

Which of the following reliability techniques are used in qualitative research?
A. Diachronic reliability

B. Quixotic reliability

C. Synchronic reliability

D. Holsti's constant

E. Chronbach's alpha

Choose the correct answer from the options given below:

FA=fafEa d @ &= - H fasrmar aw-foel @ v qoneds et & forar strar g ?
A. wrershfae fagrasiaean

B. sraaragiies fagmafiaar

C. Uehahlfereh fagra-iaar

D. gTe&l ol 3eR

E. ShI-TelTeh <hT 31 hT

H fow v et # | 9 IR &1 9u= fifw :

Options:-

.A, B and C only/&ast A, B 3fR C, Option ID :- 8125,
. A, C and E only/&ae A, C 3R E, Option ID :- 8128,
. B, C and D only/&ha« B, C 3R D, Option ID :- 8126,

. C, D and E only/dha«t C, D 3R E, Option ID :- 8127,
Answer Given:- C, D and E only/&as C, D 3R E, Option ID : -8127

Question ID:- 2041
What number should replace the question mark(?)?

3529, 64, 9817, 115, 3257, ?

fora T & gR1 usiRig it v farar s anfae 2
35, 29, 64,98, 17, 115, 3257, ?

Options:-

.126/126, Option ID :- 8161,

. 146/146, Option ID :- 8164,

. 89/89, Option ID :- 8162,

. 98/98, Option ID :- 8163,




Answer Given:- 146/146, Option ID : -8164

Question ID:- 2048

From the options given below, pick the CORRECT sequence in the context of constituent parts of
inference

Tt e Soft @1 Ta=, IgET & Huesw siRlt & g F & -

Options:-
.Hetu, Udaharana, Nigamana, Upanaya, Pratijiia/gd, S&Tg<v1, fAsm=1, 3u=4, ufa, Option ID :- 8189,

. Nigamana, Hetu, Udaharana, Upanaya, Pratijiia/fAie=, 8q, 3arewur, 3u=1, ufar, Option ID :-
8190,

. Pratijiia, Hetu, Udaharana, Upanaya, Nigamana/5fasT, gq, S&1evvu1, 3u=id, fSwm=, Option ID :-
8192,

. Pratijiia, Hetu, Upanaya, Udaharana, Nigamana/ufa=, gq, 394, 3&rgvur, fSm=, Option ID :-
8191,

Answer Given:- Pratijiia, Hetu, Udaharana, Upanaya, Nigamana/ufa, &g, S&1gxvr, 3u=4, fAms,
Option ID : -8192

Question ID:- 2044
Given below are two statements

Statement I: A 60 m long train passes a 90 m platform in 10 seconds. The speed of the train is 45
km/hour.

Statement Il: If the ratio of the speeds of A and B is a:b, then the ratio of the time taken by them to
cover the same distance is a:b.

In light of the above statements, choose the correct answer from the options given below

TRgtrufRumgd:

&Y - | : Teh 60 Hiex Tt IS Teh 90 Hiex wewid &t 10 Whs # UR &R AdT 81 ISt &t a1 45
fp. . / der g1

&Y - |l : A 31X B &Y TTeT T 31T a : b §; &t ITch ZRT 6 A a9 &+ o g, forg g awg &
srquTd a: b gl

IURI<h YAl & 3MTeteh |, i Ry 7¢ faereul & S 9t IR &1 99+ fifSig .

Options:-

.Both Statement | and Statement Il are false/&y | 3R Il &1 319 &1, Option ID :- 8174,

. Both Statement | and Statement Il are true/&¥= | 3fRR Il €41 9 &1, Option ID :- 8173,

. Statement | is false but Statement Il is true/&¥= | 37 &, foh=g FY= || ¥ &1, Option ID :- 8176,

. Statement | is true but Statement Il is false/&¥= | 1 §, foh=g ¥ Il 3197 &1, Option ID :- 8175,
Answer Given:- Statement | is true but Statement Il is false/&¥= | ¥ &, foheg YA 1l 39T 81,
Option ID : -8175

Subject : GP_25NOV_SH2_C

Question ID:- 2068

Read the given passage and answer the questions that follow




A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta
and Bengaluru as the three cities with the highest light pollution in India. It should serve to alert us
to the looming problem of light pollution about which we are not only doing so little to prevent but
are also unaware about. Light pollution refers to the harmful impact of artificial outdoor lighting.
While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc
has grown manifold in recent decades, resulting in the problem of light pollution. Studies show that
the brightness from outdoor lights has risen steadily across India over a 20 year period, with New
Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a "very high light intensity
pollution’ rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human
health but for the wellbeing of animals, birds, insects and our environment. Use of artificial lights
at night gives us more working and studying hours but it results in the problem of 'loss of night. We
find it difficult to fall asleep when the glow of streets enters our homes. It impacts our sleep-wake
rhythm, which could have serious implications for our moods and health. lllumination of gardens
impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light
pollution. It makes them disoriented, impacts their reproduction and thus their populations.

= R meriar &t ewFgde ufew

Meerafet & v 9g ZRT RAART ga afYw g uewor a=RE gR1 7€ Reeft, shear ik d1gs &t
WRd oh 9 Gaffdes geh12r uguor aet TR # 3@ 791 g1 399 g/ UhIT UguuT i Tt gt & ufa
Tad gl ST F1fge 7 hae fSigen! A & e g9 Trvg v &R @ @ afess oaa gq efa oft €1
UhIRT UGHUT T dATead HiAT ATg] UhI2M - HGEAT & gifehRes TN | g1 Stafeh i argy wenrer -
HGEYT I AT AT HShi R PRETdeH h g e amel s udgiigsiRag g siR A gt g
T e | TGTIET el g, BT h Fo axrehl | IR, uduq, var sanfe & forg s@enr wain &S =r
g T 8, fr e waRTer uguur i SHET IUF giddl g1 sieaael | 3 ot e @ fk 20 auf fir srafa J
R YRA J a1 Arzel @ urd @R areh At 7 R - ofR gfF gl 1 @, et 7% Reeht, Asimn, wgre,
hAfeeh 3R IR WA # 1993 | 2013 & it "srcafdes ugwor diaar gfE 2@ wit A 2

STeafeh HIAT ATGT UHT2A - HGEUT F 7 hael AT & WY R Ffech U] - ufyal ik hiel & @
TR 3R R yafaror R Y &rE gifrRe usg gid &1 afx t e wrgel & vahT @ gaR & ik uers
& fog e aret gl 7 gig gidt & u’g 39 aaad afF - |’ i g9 3= gidt g1 51a gl &
IoodeldT hl gHIR ©=1 | WA gidr g dt gd Hig o & shfsAre giclt 81 g9R =T - SIRur 79 W= s9eaT
YU gSdT &, et gart A-lganail a e iR 1R g us "ahdr g1 Il o udiu= uggeit 8k
Fret &t oft wanfaa @wvar &1 veRr ugyoT & Haifdes giv affar fiel ok aférat & gt &1 a8 5
fRryufiq e 3aT @ 3R 37 UST=H ot 3R el Ich! STHEEAT ht UHTfAd T 81

Light pollution intensity refers to
TR12T WO dierdt ot daread fohesd & ?

Options:-
.Increased outdoor brightness during night time/1f & @ a1t g€ gy e, Option ID :- 8269,

. Manifold hike in use of electricity in rural areas/urior &= # fasTet & wal & &€ 1= gfF, Option
ID :- 8270,

. More and more use of electricity in urban areas/21g<t &=t # fasteft &1 erfdamfdes watw, Option ID
- 8272,

. Use of artificial light for road safety/dsa qRai & forg 3w g &1 wahT, Option ID :- 8271,
Answer Given:- Increased outdoor brightness during night time/1f & @wa arét g€ gy €@, Option
ID : -8269

Question ID:- 2069

Read the given passage and answer the questions that follow




A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta
and Bengaluru as the three cities with the highest light pollution in India. It should serve to alert us
to the looming problem of light pollution about which we are not only doing so little to prevent but
are also unaware about. Light pollution refers to the harmful impact of artificial outdoor lighting.
While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc
has grown manifold in recent decades, resulting in the problem of light pollution. Studies show that
the brightness from outdoor lights has risen steadily across India over a 20 year period, with New
Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a "very high light intensity
pollution’ rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human
health but for the wellbeing of animals, birds, insects and our environment. Use of artificial lights
at night gives us more working and studying hours but it results in the problem of 'loss of night. We
find it difficult to fall asleep when the glow of streets enters our homes. It impacts our sleep-wake
rhythm, which could have serious implications for our moods and health. lllumination of gardens
impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light
pollution. It makes them disoriented, impacts their reproduction and thus their populations.

= R meriar &t wFgde ufew

Meerafet & v 9g ZRT R g afYw g newor a=RE gR1 7€ Reeft, sherar ik d1gs &t
WRd oh 9 Gaifdes geh12r uguor aret RE # 3@ 71491 g1 3699 g6 UhIl UguuT &hi St a5 & ufa
Tad gl ST F1fge 7 hae fSigen! A & e g9 Trvg v &R @ @ afess foaa gq efaw oft €1
UhIRT UGHUT T dATedd HfAH ATg] UhI2M - SHGEAT & gifchRes TN | g1 STafeh i argy wenrer -
GEYT hI IR THShl W PRET T h g e agel s udgiigsiRag g sidR A gt g
I R § TGTIET el @, BT h o axrehl | IRUER, udu=, var sanfe & forg s@wenr waln &S =n
g T 8, fr e wanTer uguur i SHwT IF giddl g1 sieaael | 3 ot e @ b 20 auf fir srafa d
R YR & aTgdt ATel @ Ut g areht &A@ 7 ofR - R gfF g 7 8, e 7 R, Aen, wEwy,
hAfeeh 3R IR WA # 1993 | 2013 & it "srcafdes ugwor dfiaar gfE T@= wit A 2

3eafeh HIAT AT UHT2A - HTET @ 7 hael AT & TR R Ffeeh U] - ufdyal ik fiel & @
TR 3R R yafaror R Y &g giferRe usg gid &1 afx it s wrgel & vahT @ gaR & ok uers
& fog e aret gl 7 gig gidt & u’g 39 gaa afF - |’ it g9 3= gidt g1 51a el &
Ioodeldl hl gHIR ©=1 | WA gidr g dt gd g e & shfsare giclt 81 g9R fAeT - SIRur 79 W= s9eaT
YW gSdT &, et gart A-lganail a e R 1R T us ahar g1 Il s udiu= uggeit sk
Fret i oft wanfaa @wvar &1 veRr ugwoT & Haifdes giv affar fiel ok aférai & gt &1 ag 5
fRryufiq e 2aT @ 3R 37 UST=H ot 3R BelEa=u Ich! STHEEAT ht UHTfAd T 81

Excessive hours of artificial light adversely impacts our
A. Work schedule

B. Sleep cycle

C. Study hours

D. Moods and health

Choose the correct answer from the options given below

A Ud12n & i aHa d Iufedd e 9 g9 R R ufdgped gUa gSaT & :
A. & 99T
B. Rzr ok




C. yord & a5y

D. g2 T Wew

R RFAI d TR R :

Options:-

.A and B only/&ae A 3R B, Option ID :- 8273,
. B and C only/&a B 3R C, Option ID :- 8274,

. B and D only/aaet B 3R D, Option ID :- 8275,

. C and D only/awa« C 34iR D, Option ID :- 8276,
Answer Given:- B and D only/&as B 3fR D, Option ID : -8275

Question ID:- 2067
Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta
and Bengaluru as the three cities with the highest light pollution in India. It should serve to alert us
to the looming problem of light pollution about which we are not only doing so little to prevent but
are also unaware about. Light pollution refers to the harmful impact of artificial outdoor lighting.
While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc
has grown manifold in recent decades, resulting in the problem of light pollution. Studies show that
the brightness from outdoor lights has risen steadily across India over a 20 year period, with New
Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a "very high light intensity
pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human
health but for the wellbeing of animals, birds, insects and our environment. Use of artificial lights
at night gives us more working and studying hours but it results in the problem of 'loss of night. We
find it difficult to fall asleep when the glow of streets enters our homes. It impacts our sleep-wake
rhythm, which could have serious implications for our moods and health. lllumination of gardens
impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light
pollution. It makes them disoriented, impacts their reproduction and thus their populations.

H= fg wrerizr &t womgde ufew :

Meuehafs & Yo g ZRT e g AfYor uenier vgwor A gRT 98 Reeht, feraan ok e &t
WRd & i< Gaifdes gerrar uguor a@ I 7 @ mar g1 399 g uehir uguur fi st awen & ufa
AT gl ST F1fRe 7 had fSgen! A & AT g9 Tvg g R @ @ afes o9 g9 eafaw oft €1
UhTT UHUT T dTeqd HiAH ATg] U1 - HGEUT & gi-hReh TG & g1 STafch A argy Uehrsr -
TGEYT Y ARl HShl R PeNMdeH & Ay e asad FFud gt g siRag g siR A uga a
T XA A FgradT el 8, 8T & $o &2Aah! # gRuEE, udiu=, var saaife & g g9 wahn &f
93 T4 g, FAEH uapter uguuTr f FHwar IaF gidl 81 sremael | @ & A & fok 20 auf fi srafy &
R YR & gt ATzel | Ut g areht A 7 ofR - ok gfP @t v @, e 7 Reel, A, werwry,
Ffeah 3R 3R U3 A 1993 & 2013 & = "srcafder uguor faar gfg 3= =t Aedt 81

Safeh HIAT IIG] TR - TTEUT | 7 Faed A7 & W TR dfees g - ufdrat ik fiel & @
WR 3R gAR vafaror iR ot +E g1feRe Uag gid g1 a3 &t Ffw dgel & uahT @ gaR & 3R ueTs
& forg A= aret e # gfE gidt @ wig 39 gad 'af - |’ & a9 3= gidt 81 519 93l hr
Iooaddl hl gHIR BRI A a2 giar g at gd i oma # hfers gl 81 g9R AT - SImRur & R g9t
YU gSdT 8, et garRt a-lganasil a @ R 1R uva us "ehdt 81 I st 9Eiu= ueii ok
Fiet &Y oft wanfaa wmwar &1 verer uguur @ gaifdes g1 AR fiel ok ufdyal o gt @1 ag 5§
fayufaa &= 341 & iR 39 Usi=+ &l 3R hea=q Ih! STHEEAT & gvIfad hedr 21




One of the major pollutants is in the form of

Uch U UehIT YN fohd &0 # 3@ ol fAear g 2
Options:-

.Home lights/eR &t @1g¢, Option ID :- 8267,

. llluminated advertising/uie ¥=IR, Option ID :- 8268,
. Indoor lights/3iez & #Tg¢, Option ID :- 8265,

. Street lights/9ge &Y «18¢, Option ID :- 8266,
Answer Given:- llluminated advertising/s€Itd w=IR, Option ID : -8268

Question ID:- 2066
Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta
and Bengaluru as the three cities with the highest light pollution in India. It should serve to alert us
to the looming problem of light pollution about which we are not only doing so little to prevent but
are also unaware about. Light pollution refers to the harmful impact of artificial outdoor lighting.
While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc
has grown manifold in recent decades, resulting in the problem of light pollution. Studies show that
the brightness from outdoor lights has risen steadily across India over a 20 year period, with New
Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a "very high light intensity
pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human
health but for the wellbeing of animals, birds, insects and our environment. Use of artificial lights
at night gives us more working and studying hours but it results in the problem of 'loss of night. We
find it difficult to fall asleep when the glow of streets enters our homes. It impacts our sleep-wake
rhythm, which could have serious implications for our moods and health. lllumination of gardens
impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light
pollution. It makes them disoriented, impacts their reproduction and thus their populations.

2 fRg meriar &t eaegde ufew

Meehafsil & Yo g R AR g AfYor uemer vewor aFfs gRT 98 Reeht, st ok dige ot
WRA & i Faifder warTer uguuT aret TRT # @1 97 81 39S g9 W12l UguT it ST awen & ufa
THd g ST 1@y 9 dhae S9! A & Y g0 Trvg yarw R @ & afcss fO9d ga safaw oft 8
TRT2T UGHUT T ATeqd HfAH ATE] TR - FAEAT & eI TN & ¢1 STafch FHEH g ueprar -
TaEYT Y ARl HShl R PReNdeH & Ay e dasad FFud gt g siRag g sieR A uga a
T XA A FgradT el 8, 81 & $o &2Aah! # gRuEE, udius, yar saaife & g g9 wahn &f
e a1 g, FAEH uaprer uguuT f FHwar IaF gidl 81 sremael | @+ & A @ fok 20 auf fi srafy &
R YR & I1gd wi1gel | ured g areft ffa 7 ofR - ofR g gih 7 &, St 7 R, At mgrmy,
Ffeah 3R 3R U3 d 1993 & 2013 & = "srcafder uguor daar gfg 3= i At 81

STafeh HIAT ITG] TR - TTEUT | 7 Faed AT & W TR afees g - ufdrat ik Fiel & @
WR 3R gAR vafaror iR ot FF g1feRe Uaa gid g1 a3 &t Ffw drgel & vahT @ gaR & 3R ueTs
& forg A= aret e # gfE gidt @ wig 39 gad af - |’ & g 3= gidt 81 59 ISl it
Iooaddl hl gHIR BRI A a2 giar g at gd i oma # hfers gl 81 g9R AT - SIRur &/ IR g9t
9T ST &, et gart mlgensit g @y iR R U ug dahdr @1 anTt 1wt uggei ok
Fiet &Y oft wanfaa wmear @1 veper ugwur @ gaifdes g1 AR fiel ok ufdyal o gt @1 ag 5§
fRayufaa &= 341 & ok 39 US4 ol 3R hea=q  Ih! STHEET &t yvIfad &hear 21

The light pollution map is related to adverse effects of




UehI2T UguUT AR fohads ufdge gvwral @ Hdfda g ?

Options:-

.Outdoor artificial light/aTg] 3% werte1, Option ID :- 8262,

« Rural electricity projects/urfior faega uRats=mg, Option ID :- 8264,
« Sunlight/Id a1 waktat, Option ID :- 8261,

. Urban electricity projects/2rg<} faega uRgismd, Option ID :- 8263,
Answer Given:- Outdoor artificial light/aTg] f3% werter, Option ID : -8262

Question ID:- 2070
Read the given passage and answer the questions that follow

A global light pollution map developed by a group of researchers has ranked New Delhi, Kolkotta
and Bengaluru as the three cities with the highest light pollution in India. It should serve to alert us
to the looming problem of light pollution about which we are not only doing so little to prevent but
are also unaware about. Light pollution refers to the harmful impact of artificial outdoor lighting.
While artificial outdoor lighting is needed in the form of street lights it increases safety on roads
and enables us to study and work in the dark, its use for floodlighting, illumination, advertising, etc
has grown manifold in recent decades, resulting in the problem of light pollution. Studies show that
the brightness from outdoor lights has risen steadily across India over a 20 year period, with New
Delhi, Telangana, Maharashtra, Karnataka and Uttar Pradesh showing a "very high light intensity
pollution” rise between 1993 and 2013.

The use of excessive artificial outdoor lighting has several harmful implications not just for human
health but for the wellbeing of animals, birds, insects and our environment. Use of artificial lights
at night gives us more working and studying hours but it results in the problem of 'loss of night. We
find it difficult to fall asleep when the glow of streets enters our homes. It impacts our sleep-wake
rhythm, which could have serious implications for our moods and health. lllumination of gardens
impacts animals and insects too. It is nocturnal insects and birds that suffer the most due to light
pollution. It makes them disoriented, impacts their reproduction and thus their populations.

H= fg wrerizr &t wogdes ufew :

Meehafet & v g gRT AR g afYe g uewor a=RE gRr 7€ Reeft, sheraar iR d1gs @t
WRA & i< Gaifdes gerrar uguor ar@ RI 7 @ 71 g1 399 gd Uehir Uyt fi st awwn & ufa
A gl ST F1fRe 7 dhae fSgen! A & AT g9 g g R @ @ afes o9 gq eafaw oft €1
UhTN UEHUT T dTeqd HiAH ATg] UhIA - HGEUT & gihReh UG | g1 STafch HfAw argy Uehrsr -
TGEYT Y ARl HShl R PReNMdeH & Ay e asad FFud gt g siRag g siR A uga a
T XA A FgTadT el 8, 8T & $o &2Ah! °§ gRUE D, udiu=, yar gaaife & A g9 wahn &f
g T g, fSr et wenTer uguuT i THET IF gl g1 sieagel | 3 ot fAerar @ fb 20 auf i srafa d
R URA & A1Edt Arze @ ure g areft Sty 7 ofR - ofR gfF &t v 3, o 7 Resht, e, mERTE,
hAfeeh 3R IR W2r & 1993 | 2013 & oftw "sreafdes ugyor dear gfE Ta= i A 21

3reafeh PN ATGT UHT2A - HTEUT @ 7 hael AT & TR R dfech U] - ufdyal ik Hiel & @
WR 3R gAR vafaror iR ot E g1feRe Uaa gid g1 a3 &t Ffw dgel & uahT @ gaR & SR ueTs
& forg Ao aret el # gfE gidt @ wig 39 gad 'af - |’ & gawn Ia= gidt 81 59 asal 6t
ISodeldT Rl gHIR =1 & waer giar @ at gd fig e & swfere gt 81 2uR AeT - SImRur 79 W= g9
YU g1 8, et garRt A-lganail a @ iR 1R usa us "ehat 81 I a1 9u= ggeii ok
Fiet &Y oft wanfaa wmwar @1 werer ugwor @ gaffdes g1 AR fiel ok ufdyal & gt @1 ag 5§
fayufaa &= a1 & ik 39 Usi=+ &l 3R heea=u Ih! STHEET &t gvIfad a2l

The loss of night, as mentioned in the passage, will lead to

Terier # foRg 1Y It & SIER A - &g | gl ?




Options:-

.Increase in education/fxem & gfeg, Option ID :- 8278,

. More human productivity/31fes #T9a IcuTEehdT, Option ID :- 8277,

. The altered activities of nocturnal creatures/f3=R Sfial & uRafed« ferarereima, Option ID :- 8279,

. The well-being of human population/HT=a STHHEAT kT &edToT, Option ID :- 8280,
Answer Given:- The altered activities of nocturnal creatures/f3=R Sfiat & uRafda forarere,
Option ID : -8279

Subject : Commerce_25NSH2_SHAAN_NOV21A

Question ID:- 1559

A new 1ssue debt or shares will invariably involve floatation costs in the form of:

(A) Legal fees

(B) Administrative expenses
(C) Brokerage

(D)  Underwriting

(E) Risk premium

Choose the most appropriate answer from the options given below:

(1) (A4). (B), (D). (E) only
(2) (A). (C) only
(3) (A). (B). (C).(D) only

(4) (A), (B). (0), (D). (E)

et 7@ | W TR ¥ i A e ww o F ¥ H wad A AeaE w2 2

(A) TEuE T

(B) A @
(C) =t
D)  wATaTE

s e

(E)  itfam s
e f2u o el § © geE I9Eed ST A=A I
(1) 3= (A). (B). (D), (E)

(2) %=« (A). (C)

(3) = (A), (B), (C). (D)

(4) (A). (B). (C). (D). (E)




Options:-

.1, Option ID :- 6233,
. 2, Option ID :- 6234,
. 3, Option ID :- 6235,
. 4, Option ID :- 6236,

Answer Given:- 4, Option ID

1 -6236

Question ID:- 1582

Match List I with List I :

ListI

(A) Hedgers

(B) Financial derivatives in India

(C) Arbitrageurs

(D) Commodity future in origin

List IT

(I} Osaka

(II) Increased volatility

(III) Commercial producers

(IV) Riskless profit

Choose the correct answer from the options given below:

DV @A-O @ -a) © - @,
2 @-dn @ -ada. (© - av.
3 @W@-av, @ - dan. «©) - @.

@ W-IMm ®®&-0 (© - D

g 1% |1 g 11 &1 faar $ifao

g1 1
(A) vz (Fe)

(B) w4 1§ fastg 2hEfea

(C) SAIHFAL

(D) Hurfedl w=t &1 Ig9e

fra feru o foaredi @ gl 39 @ =9 Hifsu .

(1) A-D. B - av). (© - aIb.

2 @-@n. B)-ada, (© - av.

(3) A)-av), @\ - dD. (©) - d.

@ @W-@m ®@-@0 (@© - (b,
Options:-

.1, Option ID :- 6325,
. 2, Option ID :- 6326,

(D) — (1D
D) — @
(D) — (D)
D) — IV
=1 1T
(D
1) = gl =era

(IIT) arforfae IeTrgeh

(IV) gy wfea e

D) — dIDh
D) - @

(D) — D
D)y — (IV)




. 3, Option ID :- 6327,

. 4, Option ID :- 6328,
Answer Given:- 1, Option ID : -6325

Question ID:- 1563

Use of Focus Groups and collaboration tools as a training needs assessment technique has
the following disadvantages
(A) Time consuming or organize

(B) Unuseful with complex or controversial issues that one person may be unable or

unwilling to explore
(C) Questions cannot be modified to explore unanticipated issues

(D)  Group members provide only information they think you want to hear

Choose the most appropriate answer from the options given below:

(1) (A). (B)only
(2) (B). (C) only
(3) (A). (D) only
(40 (C). (D) only

TRIE % {0 SAETEE GeaEA aFAr % FU H FHE GYE S HEAri I o yE % et 39EE
5.

o .

(A) TS H AT TEE S =

- - - s - - e o[ e 3 o 3 N o
(B) Fh= W famwm T e s= wE A w5 =t sem A oW 9w sfegw oA, * o

ST

—

(C)  saiHTE fawal =1 s i = fow uvi 4 uiaed far =1 gk 2

(D) H9E % T= Fad 98l AEFE UgH Fd 7 A1 9 HEEd 2 B A 5 g = #
=t f3u o ferpedi § @ weE g I R SEA HIAC
1) F=4 (A) B)
2  F=a B) (0)
(3)  =ae (A). (D)
(4) &= (O). (D)
Options:-
.1, Option ID :- 6249,
. 2, Option ID :- 6250,

. 3, Option ID :- 6251,
. 4, Option ID :- 6252,




Answer Given:- 3, Option ID : -6251

Question ID:- 1530

For Binomial distribution with n =30, g =0.7. the mean and variance will be equal to:

(1) 21and +6.3 (2) 9 and 6.3
(3) 9 and 6.3 (4 21and 6.3

1292 #29 T58H n =30, g = 0.7 7. % (o0 BT 31 [==70 (%5 =@ 20 ;

® 213 Vo3 @ o ¥ Vo3
) 6 wces @ 21363
Options:-

.1, Option ID :- 6117,
. 2, Option ID :- 6118,
. 3, Option ID :- 6119,

. 4, Option ID :- 6120,
Answer Given:- 3, Option ID : -6119

Question ID:- 1591

Arrange the following stages of the process of organizational change in the sequential order :

(A) Detailed consideration of the proposed change

(B) Collection of detailed information and development of alternative approaches in

relation to the problem or issues
(C) Evaluation of various alternatives and framing a proposal
(D)  Vocalization of the need to change

(E) Search for the main cause underlying the symptoms encountered

Choose the correct answer from the options given below:

1) (D). (E). B). &). (C)
@ (D). A). E).B. )
(3) (A (E). (D). (C), (B)
4 (B (E), D). A, ©)




HiraTeaes qitadd <t ufsran & Horfeed = i wuan sgafer =l .

(&) i giads w fasgd fa=m
(B)  HuEl 3¥E 42 & af 4 Ao giteai fowfaa e sin faega = d@wan

(C) fafu= fasedi &1 gegia 300 U weard W HT
(D)  vftada &I sEvashdl & 97§ e

(E) W ci&vii < 3idfad qed &rv 6l @i
#9 fev o faspedi § @ W I w1 = i

1) (D). (E). B). (A). (C)
2 @D.A). E). ®).©C)
(3) (A (E). D). ©). B
4)  (B). (E). (D). A). (O)

Options:-

.1, Option ID :- 6361,
. 2, Option ID :- 6362,
. 3, Option ID :- 6363,

. 4, Option ID :- 6364,
Answer Given:- 2, Option ID : -6362

Question ID:- 1560
Which of the following are the reasons for raising funds via securitization?

(A) To raise capital using non-conventional sources
(B)  To accelerate earnings for financial reporting purposes
(C) To diversify funding resources

(D)  The potential for reducing funding cost

Choose the most appropriate answer from the options given below:
(1) (&), (C), (D) only

(2) (B). (C), (D) only

(3) (C). (D) only

4 (&) (B), (D)only




ufaufas = e & ffaan e & wnn fefafes 3 = F9-9 27

(A)  T-yrueE w@E F O T

(B) Tt farfén w29 s s

(C)  Teruraor = wameAT =1 fafaefmm
(D) o =T e e A
Hr fau o faehel © ® o SUgFA S H 9 HilAC

1)  FF A). (C). (D)
2 a4 ®). (C), (D)
(3) =&« (C), (D)

4 a4 A). (B). D)

Options:-

.1, Option ID :- 6237,
. 2, Option ID :- 6238,
. 3, Option ID :- 6239,

. 4, Option ID :- 6240,
Answer Given:- 3, Option ID : -6239

Question ID:- 1592

Arrange the following steps, in a logical sequence of debt recovery by financial institutions

through Debt Recovery Tribunals (DRTs)?
(A) Restrain him from dealing with/disposing of the concerned assets/properties pending
at the hearing of the application.

(B) Direct him to disclose particulars of properties other than those specified by the
applicant bank.

(9] Show cause within 30 days as to why the relief should not be granted to the bank.

Choose the correct answer from the options given below:

(1) (B A.©)
(2) (A). (B), (C)
3 (B).©C).®
4 (©).3B).A




01 Feell =ZrETusn (DRT) & weag | faedta swensi gr = agefl & f=fafaa son i aifdhs sy

Y sxafird @i

(A) 39 mafua aftEdfE)/aafaEi O SR 91 39 g2H W IS IE J9ds 6 AEe-TE hl gHar
q &l

(B)  HAEEH /a5 gr i wufeai & sfafaa w3 wafai 1 fafre sHed & gar w@ & fao
38 fagm &

(C) 30 fedi & 37t Frv aqH foh e ol @2 @41 3 <1 Ay

19 fou o faweqi 4 | w8 3w w1 294 $ifa .

1 (B A, ©
(2 (A).B). (O
3) (B ()@

4 (O (B). &)

Options:-

.1, Option ID :- 6365,
. 2, Option ID :- 6366,
. 3, Option ID :- 6367,

. 4, Option ID :- 6368,
Answer Given:- 4, Option ID : -6368

Question ID:- 1574

Which of the followings are included in person under section 17(1)7

(A) A Hindu Undivided Family (HUF)
(B) A company

(C)  Afirm

(D)  An individual

(E)  Alocal authority

(P An association of persons

Choose the most appropriate answer from the options given below:

(1) (A). (C). (D). (F) only
(2) (C). (D), (E). (F) only
(3)  (B). (D). (E). (F) only
(4) (A). (B). (C). (D). (E) and (F)




o 17(1) % ¥ Feferias 8 = e =i # afmfom FeE s 27

(A)  HAfETIE f7g TRar (HUF)

o

(B) =
(C) wia=m (%)
(D) =afd

(E)  =9miT Tieasn

(F) === =1 59
e f2u T faepedl 6 @ weE SUgFA I R T HIAC

(1)  F94 @A), (C), (D), (F)
(2)  FF4 (C), (D). (B), (F)
(3)  Fad (B). (D), (E), (F)

@ (A, B), (C), (D). (E) 3 (F)

Options:-

.1, Option ID :- 6293,
. 2, Option ID :- 6294,
. 3, Option ID :- 6295,

« 4, Option ID :- 6296,
Answer Given:- 4, Option ID : -6296

Question ID:- 1564

Principles of management are important and useful on account of the following reasons:

(A) To increase managerial efficiency
(B)  To attain social objectives

(C)  To train managers

(D) To improve research

(E) To coordinate material and human resources

Choose the most appropriate answer from the options given below:

(1)  (A). (E) only

(2)  (B). (D) only

(3)  (B), (O, (D) only

(4) A). (B). (C). (D). (E)




TEYH  fagm Frefiad Heon @ geeyl ST swEE E

(A)  TEEEE SHAT g
(B)  @mEIF 291 i U A
(C) =gl =1 WemeE w5
(D) g J gUR FEAT
(E)  ifas 31 99 Fava & o= e Fe
Fr= fou o famwowi @ @ gEE F9gH I H =994 FifAw
1) Fa4 (A). (E)
(2)  Fad (B). (D)
3)  F== (B). (C). D)
4  F= (A, (B). (O). D). (E)
Options:-

.1, Option ID :- 6253,
. 2, Option ID :- 6254,
. 3, Option ID :- 6255,

« 4, Option ID :- 6256,
Answer Given:- 1, Option ID : -6253

Question ID:- 1561

Non-sampling errors may arise because of:

(A)
(B)
(€)
(D)

(E)

Vague definitions used in data collection
Defective method of data collection
Incomplete coverage of the population

Wrong entry made in the questionnaire

Only a part of the population is observed and expected to avoid census study

Choose the most appropriate answer from the options given below:

(1)
)
(3)
@

(A). (B), (C). (D) only
(A). (C), (D). (E) only
(B). (C). (D). (E) only
(A). (B), (D). (E) only




T-ufa =9F Yol Fefciad 1§ 6 o0 o 21 g 8 7

(A) ST TUET H T AT JGTET
(B) w1 mmE i gfeyt fafa
(C) Twfe = YW ¥4 T wiEe o 59
(D)  wwAgsl 9 #i T T qEie
(E) w191 A & o o T wafee o fed o & v e S 2 i seehl A i S 2
H= fau o faepedl d O HeE SEEE IEC 1 =99 I
(1)  F=E A). (B). (). (D)
(2) == (A). (C), (D). (E)
(3)  =FAd (B). (C), (D). (E)
(4 F=4 @A), B), D). E)
Options:-

.1, Option ID :- 6241,
. 2, Option ID :- 6242,
. 3, Option ID :- 6243,

. 4, Option ID :- 6244,
Answer Given:- 1, Option ID : -6241

(1)
2
(3)
(4)

Question ID:- 1532

Which among the following 1s not a characteristics of transactional leaders?

Gives personal attention. treats each employee individually.
Abdicates responsibilities, avoid making decisions.
Intervens only when standards are not met.

Contracts exchange of rewards for efforts.

freferiaa ° 9 -3 sErEETen A # e w6 2 e

(1) =T S 2a1 2, T FHaER % d19 AFaTd =FaEr Fal 7
(2)  ITHEEEl I TN 24 2, HUE e E a2

(3) i TEe = B, WA A F UGS TR A = 2

(4)  TEE % 95 UIASE B TEE F A

Options:-

.1, Option ID :- 6125,
. 2, Option ID :- 6126,
. 3, Option ID :- 6127,

. 4, Option ID :- 6128,
Answer Given:- 2, Option ID : -6126




Question ID:- 1513

Which of the following countries/territories is not a member of the WTO?

(1) China (2) Russia

(3) Iran (4) Taiwan

FreAferfiaa § 4 =ig-=1 21/#9 fava =R gea (WTO) =1 g8 951 27

o

1 =F (2) ==
(3 =W @ e
Options:-

.1, Option ID :- 6049,
. 2, Option ID :- 6050,
. 3, Option ID :- 6051,

« 4, Option ID :- 6052,
Answer Given:- 4, Option ID : -6052

Question ID:- 1597
Given below are two statements:

Statement I : If firms are disproportionately powerful, the market leader makes the first
move and captures two-thirds of the market share. while the follower firm gets

only a third of the market share.

Statement IT : Oligopolist firms do better by cooperating than following its dominant
strategy.

In the light of the above statements. choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement II are correct
(2 Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I 1s incorrect but Statement IT is correct




= 71 A o #)

Fl ;A w4 T sEWlGE w9 ° wfE el 2, df stean F el w9 An sew R & gi-Taas
et 0 e sHferm e el 2 it ST W e A % o e e w s

T Ot A

FHAIl:  =El (TE) DHETG A S STE GEAPTeRE Aifd AE 8 AT BE1 S He ged

=il =1

W FYA F AR 4, A= 50 T [T 8 # 5EE 0 I9 6 =99 i

(1) == I =R 10 oM =98 &)
2y oA I 3R 0 56 7o 2
(3) w2 [ =l 7, S w2 11 e 2

(4)  =uE I 7ed 2, S wad I 89 2

Options:-

.1, Option ID :- 6385,
« 2, Option ID :- 6386,
. 3, Option ID :- 6387,

. 4, Option ID :- 6388,
Answer Given:- 1, Option ID : -6385

Question ID:- 1529
Each of the values of a series 1s decreased by K. Which of the following does not hold in the
context?

(1) The quartile deviation does not change.
(2) The co-efficient of quartile deviation remain unchanged.
(3) The lower and upper guartile values each increases by K.

(4) The quartile coefficient of dispersion rises.

et 2ae % WerE W § A K 9 e e 2| 53 wed | et § 2 we-m w8 T8 20
(1) =au To=er 5 #15 aiteas T8 = 2

(2)  =guw fa=em % TonE § FiE afaEds =@ e 2|

(3) T ¥R 74 =gd® wH voAF 7 K F gig 7 e 2

(4) o =g T ¥ gig w1 A 2

Options:-

.1, Option ID :- 6113,
. 2, Option ID :- 6114,
. 3, Option ID :- 6115,

. 4, Option ID :- 6116,
Answer Given:- 3, Option ID : -6115




Question

ID:- 1593

Arrange the following steps of market feasibility study in the sequential order :

(A) Based on the cost and anticipated sales revenue, calculating the break-even price and

the sales volume.

(B Forecasting sales, based on demand estimation and competitive analysis.

(C) Estimation of demand in the target market, of different price levels.

(D) Estimating the cost of serving the market segment.

Choose the correct answer from the options given below:

1) (B (©O). D). A)

(2) (

C). (B). D). &)

3) (B).D).A.(©)

@ (©).3B).A). D

ATHN. AR AT & Fifhd =0T @) wHar sgaftm + .

(A)

(B)

(©)

D)

= feu

(1)
(2)
(3)

(4)

Options:-

ST 3 3T fershl s au s w9 faese faeg siv fasy wfommo 6 e @ Be
fasra yaiqum, am sEA 3t ufaers favemo @ snarfE
wAfed e 4 9P 3geE, = Fed wwow

qraR @ il ATFEgHd 4fd 6l v w1 FTHH

o famedi § ¥ wél I #1 =234 Fifsu

(B). (). (D). (A)
(C). B). D). )
(B). (D). (&4). (O)
(C). (B). (A). (D)

.1, Option ID :- 6369,
. 2, Option ID :- 6370,
. 3, Option ID :- 6371,

- 4, Option ID :- 6372,
Answer Given:- 2, Option ID : -6370

Question

ID:- 1571




Which of the following taxes have been replaced by the GST? Indicate the correct code :

(A) Central Excise duty

(B) Service tax

(C) Taxes on advertisements

(D) Duties of Excise-Medicinal and toilet preparations

Choose the correct answer from the options given below:

(1)  (A).(®B). (D) only

(2) (A). (B) only

(3)  (B).(C). (D) only

(4) (C). (D) only
it w2 g ety 0 @ 6 0 Siaeniad B e 2 7 w8 His gied oo
(B) T

(C)  Tomm=l W

(D) ST WS 9 WHIES HUE

Hi= fqu U faehedi 6 © HE I W 999 b0

(1) %=« (A). (B) 31T (D)
(2)  TFaE (A) #F7 (B)
(3)  #F=9 (B). (C) 37 (D)

(4)  Fa9 (C) 5 (D)

Options:-

.1, Option ID :- 6281,
. 2, Option ID :- 6282,
. 3, Option ID :- 6283,

. 4, Option ID :- 6284,
Answer Given:- 3, Option ID : -6283

Question ID:- 1535




Which one of the following statements 1s true about the risk considered for capital

requirements under Basel II?

(1) Credit msk, interest rate risk and foreign exchange risk
(2) Credit risk, market risk and operational risk
(3) Credit risk, political risk and country risk

(4) Credit rsk, interest rate risk and political risk

Trferiiaa 5 & FFA-a1 o sEe I 2708 S5 A o fo e siiem w6y § w9 87

(2) HWE SEH, SEE {NGE AR TEEE Ay

(3)  TTa FifEn, T Sy T 23 TEdt s

(4)  HWE AifEs, == 7 AEE AR TSEaE A

Options:-

.1, Option ID :- 6137,
« 2, Option ID :- 6138,
. 3, Option ID :- 6139,

. 4, Option ID :- 6140,
Answer Given:- 2, Option ID : -6138

Question ID:- 1520

Income effect of a price rise is greater than its substitution effect in case of:

(1 Inferior goods (2) Giffen goods
(3) Status symbol goods (4) Perishable goods

freaferfiaa & @ f5m % gaw 1 geg 9fg 1 98 Fad 79 w5 afawar w3 s v 20

(1) #F =& 2 e T
(3) s wfeafa Fi wdis F=0 (4) 7= FH A aE
Options:-

.1, Option ID :- 6077,
. 2, Option ID :- 6078,
. 3, Option ID :- 6079,

. 4, Option ID :- 6080,
Answer Given:- 2, Option ID : -6078

Question ID:- 1600




Given below are two statements: One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion A : A, the owner of a ship by fraudulently representing her to be seaworthy
induces B, on underwriter to insure the ship.

Reason R : B can obtain cancellation of the policy. as it 18 a fraud on account of

fraudulent misrepresentation under the contract act.

In the light of the above statements, choose the correct answer from the options given
below:

(1 Both A and R are true and R is the correct explanation of A

(2) Both A and R are true and R 1s NOT the correct explanation of A
(3) A is true but R is false

(4) A is false but R 1= true

9 71 FoF faT T F| UF SA9FAS (Assertion A) F FY H fofEd 7 @1 550 39F FAU (Reason R)

E=qH

ArTFE A TR e w1 = AT 30 39 ° GH5ERE @ F AeE BF e # oA e A

Ui = 2

FEO R B’ uiters = fREar ure R wA 7 i S At % A eyl TeasEE &

=4 TF T B

I FYA F ATAF 4, A9 50 T fawen 8 @ Fe" 0T 39 H =99 i)

(1) A =it R A @di £ it R, A i &8 =men 2
(2) A ¥ R 3 @8 # oK R. A Fi 991 =wen 98 2
(3) ATF? T R od T B

(49 A@d F 2 9 R TE 2

Options:-

.1, Option ID :- 6397,
. 2, Option ID :- 6398,
. 3, Option ID :- 6399,

. 4, Option ID :- 6400,
Answer Given:- 2, Option ID : -6398

Question ID:- 1584




Match List I with List IT :

(&)

(B)

(©)

D)

List I
Actual Delivery

Constructive Delivery

Symbolic Delivery

Delivery

List IT

(I) Delivery of means of obtaining possession of goods
by the seller to the buyer

(IT) Physical handing over of the possession of the
goods by the seller to the buyer

(II) Voluntary transfer of possession of goods from
seller to buyer

(IV) Acknowledgement by a third person in possession
of goods to hold them on behalf of and at the
disposal of the buyers.

Choose the correct answer from the options given below:

O @-@), ®-@® () - @ (D - d
@ @-am ®-av, © -O. @O - Jdn
3 @W-O. @ - dDn. (C) - av). (D) — 1D
4 @-@O. B -3an © -aV. O -0
g=ft 1% = g 11 =1 fgere it
o= 1 = 1T
(B) TEATCHF gl (IT) Tasha GRY el =1 9161 = ed =1 Hifas g5
(C) Wit Yt (III) Tershe & Zhal & HIeT % Fos 1 T eamh Aaw
(D) =T (IV) o1 W Fedl T 916 di08 =afeaq grT TEisnifda 16 a2 s #i
S H #W 3GF [0 76T H TG
Hr= fou o fawed @ 9F I W = A
(1) (A)— (IV)y. (B) — . (C) — (III). (D) — (II)
(2) (A —({ID. B — IV). (© — (D. Dy — (III)
(3) (A)— (D). (B) — (III), (C) — (IV). (D) — (II)
(4) AD-1TnD. B)-dD, (O -dTV). D) - O
Options:-

.1, Option ID :- 6333,
. 2, Option ID :- 6334,
. 3, Option ID :- 6335,
. 4, Option ID :- 6336,

Answer Given:- 2, Option ID

:-6334

Question ID:- 1537




Which one of the following statements 1s false?
(1) Capital market 1s a market for medium and long term funds.
(2) GDR is a negotiable instrument issued by a US bank.

(3) Many publicly listed companies in India trades their shares through Bombay stock
exchange or national stock exchange.

(4) Securities that are listed on various stock exchanges are eligible for being traded
there. are called listed securities.
frafafiga § @ =4 W %94 o 27

() it amm wea si Ao fat % fore o e 2

(2) o 3 g v A g SR e e

(3) WA U IFE WENGE BT A GEiEg w9 Wi UEEEE A1 A T2 U % AT o
I T =R FA B

(4) v wfaglen =1 fafa= =i fafEt o« gefag 2 e ae =mm B s gwar 2, # geeg
Options:-
.1, Option ID :- 6145,
. 2, Option ID :- 6146,
« 3, Option ID :- 6147,

. 4, Option ID :- 6148,
Answer Given:- 2, Option ID : -6146

Question ID:- 1514

Which of the following entity has recently been negotiated to replace NAFTA with effect from
July 20207

(1) Quad group of countries
(9) USMCA
(3) Shanghai cooperation organisation

(4) Trans Atlantic organisation

=14 i Tl  FTEE 9 2020 F TR (NAFTA) &1 70 %19 =M 7

() = 1 73 (Quad) TYF
(2) AT

(3)  TTETE TEATT A

(4)  WI-FHAANH FIHA
Options:-

.1, Option ID :- 6053,
. 2, Option ID :- 6054,

. 3, Option ID :- 6055,




. 4, Option ID :- 6056,
Answer Given:- 2, Option ID : -6054

Question ID:- 1528

A coin and pair of dice are tossed together, the total number of possible outcome for an

experiment is :

1 12 @ 72

(3) 36 @ 24

U AR i STR UE % WIS I UF WY ST Al 2, 59 AT % SHIiEd GHons i Fel S a7 7

1y 12 Ty T2
(3) 36 v 24
Options:-

.1, Option ID :- 6109,
. 2, Option ID :- 6110,
. 3, Option ID :- 6111,

. 4, Option ID :- 6112,
Answer Given:- 2, Option ID : -6110

Question ID:- 1590

Arrange the following steps of formulating research proposal in a logical sequential order:

(A) Defining Research problem.
(B) Formulation of Hypothesis.
(C) Review of literature.

(D) Collection of data

(E) Research design

Choose the correct answer from the options given below:

1) @A. 3. (©). D). E)
2 @A, (E). ®B).(©). D)
(3) (A, (E). (C). (D). (B)

4) (A (©), [B). (E). D)




sl yerd < famin & fsfefaa i« ve aifds #a 10 smafer $ifso .

(A) " A 1 TR
(B) ke &1 i

(C)  wrfaea < wdian

(D)  FTHEL F G

(E) 9ty sifiyepey

Hr= feu o faweai 0 9 wdl 3w @ 9= Sifa

1) (A). @B). (C). (D). (E)
2 (A (E). B).(©). D)
(3) (A (E). (C). (D). (B)
4) (A, (C).(B). (E), D

Options:-

.1, Option ID :- 6357,
. 2, Option ID :- 6358,
« 3, Option ID :- 6359,

. 4, Option ID :- 6360,
Answer Given:- 2, Option ID : -6358

Question ID:- 1546

Which one of the followings is not included in the term “Work™ under copyright Act 19577

(1) A Cinematographic film (2)  Layout designs of integrated circuits
(3) A sound recording (4) A dramatic work

Fidiee sAfafam, 1957 & Aard HA=fafad 9 o fm =1 “w@ | 1 afefos 72 fFar w27

(1) TaewEmEs e (2) 32US Hihe F -HAE2 Tieen
(3) A T (4)  UF ATeHE
Options:-

.1, Option ID :- 6181,
. 2, Option ID :- 6182,
. 3, Option ID :- 6183,

. 4, Option ID :- 6184,
Answer Given:- 2, Option ID : -6182

Question ID:- 1527




If each value 1n a given set of data 1s divided by 4, how will it affect Karl Pearson’s coefficient

of Skewness?

(1) It will reduce the value of co-efficient to one fourth
(2) Tt will increase the value of co-efficient to four times
(3) Tt will not affect the co-efficient of Skewness value
(4 Nothing can be said about the change

11%'1%UTFU ST Oa==4 F UedT, U H 4 H H T%J'I AT 2, 7 9F F qEEd aTe ‘_Jil-@ Eafee

(1) =% 0% & 9H % TH-GAE FH HL
(2)  T= TTF F gH FH =R T 4 S

(3)  =HE 49 U F HH ST =
(4) dfad & 96 H F3 ofi 78 a1 1 ghar 7
Options:-

.1, Option ID :- 6105,
. 2, Option ID :- 6106,
. 3, Option ID :- 6107,

. 4, Option ID :- 6108,
Answer Given:- 1, Option ID : -6105

Question ID:- 1555

A U-shaped long-run average cost curve is based on the assumptions that:

(4)
(B)
(©)
D)

(E)

Greater division of labour and specialisation accure to larger firms
Minimum cost of production at various levels of output

Economies of scale prevail at small levels of output

It becomes more difficult to manage the firm effectively as it grows bigger

Diseconomies of scale prevail at larger level of output

Choose the correct answer from the options given below:

(1)
2
(3
(C))

(A). (B) and (C) only
(B). (C) and (D) only
(B). (C). (D) and (E) only
(A). (C). (D) and (E) only




(A) 7| 1 Jam s Hi e 9t w4 | w2

B) m = fafi= = W == F e w

(C)  Tofm % =g =l ov uiemmorgers Hery il 2

(D) A % §S B WH W OSH T @ H Usihd B A6 HieA w5 6w

(E) M\ % get TR W Timmwmes S|

= T2u U fommeTt B © OE I 1 =94 i,

(1) &= (A). (B) 311 (C)
(2)  Fa= (B). (C) #E (D)
(3) == (B). (C), (D) 37 (E)

(4) @ (A), (C), (D) = (E)

Options:-

.1, Option ID :- 6217,
« 2, Option ID :- 6218,
. 3, Option ID :- 6219,

. 4, Option ID :- 6220,
Answer Given:- 3, Option ID : -6219

Question ID:- 1515
Amalgamation adjustment account is used for recording:

(1) Capital Reserve in the books of the transferee company
(2) General Reserve in the books of the transferee company
(3) Statutory Reserve in the books of the transferee company

(4) Revenue Reserve in the books of the transferee company

(1)  =wamatdt ot i =@t 7 gt fiad

(2)  wEATARA SO = owE g wEe e

(3)  FEATANAl FA A A § A T

(4)  FEATARE FOA AR § T
Options:-

.1, Option ID :- 6057,
. 2, Option ID :- 6058,




. 3, Option ID :- 6059,

. 4, Option ID :- 6060,
Answer Given:- 1, Option ID : -6057

Question ID:- 1588

Arrange the following market structures in the increasing order of the price elasticity of
products:

(A) Perfect competition

(B) Monopoly

(9] Monopolistic competition

(D) Ohigopoly

(E) Duopoly

Choose the correct answer from the options given below:

1) (). (D). (E). (B). (A)
2 (B).(E). D). (©C). A)
(3)  (C).(E). (D). (A). (B)
@ .. D). (E). ®B

frferfiga aram dvaad s 3wl 6 geu o= & 3T u O srafia Fif

A ol gl

B)  UHIHR

(Cy  warferpies ufeoged
D)  FAFHR

(E) garfusn
H feu o fawedi 0 O wdt 3w = Fife

(1) (0. (D). ([E). B). @A)
@  ®.(E). D.©C). A
(3) (C). (E). (D). (A). (B)
@ A (). D). (E).®B

Options:-

.1, Option ID :- 6349,
. 2, Option ID :- 6350,
. 3, Option ID :- 6351,

. 4, Option ID :- 6352,
Answer Given:- 2, Option ID : -6350




Question ID:- 1518

The net profits of a partnership business, after providing for income tax for the last five
vears were: ¥ 80,000; ¥ 1,00,000; ¥ 1.20.000; ¥ 1.25.000 and ¥ 2,00.000. The capital

employed in the business 1s ¥ 10,00,000 and the normal rate of return is 10%. The value of
goodwill on the basis of the annuity method; taking the present value of the annuity of Re 1
for 5 years at 10% 1s 3.7907 (approx); will be

(1) ¥ 2,500 (approx) (2) ¥ 79,225 (approx)
(3) T 94,770 (approx) (4) ¥ 2,.25,000 (approx)

AP B UEF FA o A1E PR wErl e % g oy e utg  d | e %.80,000, %.1,00,000,
%.1,20,000, %.1,25,000 311 %.2,00,000 9| =H=@™ | =105 T2 9541 £.10,00,000 # 3R wfawa H1 @
T 10% =1 AR 10% T 5 =91 % foro .1 =6 =rie=ht =1 T0q@ 79 3.7907 (FT9) 7, * aneeh oty =

TR 9T AT T GET BT

(1) %.2,500 (=014m) (2)  %.79,225 (=9T9)
(3) % 94,770 (=9T) (4)  %.2,25.000 (=T9T)
Options:-

.1, Option ID :- 6069,
. 2, Option ID :- 6070,
. 3, Option ID :- 6071,

« 4, Option ID :- 6072,
Answer Given:- 2, Option ID : -6070

Question ID:- 1545

Which among the following essence of the information technology act is not a correct
statement?

(1) Legal Recognition of Electronic documents

(2) Any contract for the sale or conveyance of immovahble property or any Interest in such
property

(3) Legal Recognition of Digital signatures

(4 Justice Dispensation system for cyber crimes

r s

FreAfeTiEa 9 & gea1 2ol ATdfEs = FH-81 91, TeF wF TA 27

(1)  Sci9giteh gEarea il 1 JT=T
(2) ¥ OUN % Tad O UREEd * fo W o Oty § et F o wE S

(3) Tefaeer seamemt 1 =gt ar=an

(4)  HEe AT F U e e T

Options:-

.1, Option ID :- 6177,
. 2, Option ID :- 6178,
. 3, Option ID :- 6179,
. 4, Option ID :- 6180,




Answer Given:- 2, Option ID : -6178

Question ID:- 1521

If the scale parameter (r) is greater than one (r >1) the CES production function exihibits:

(1) Decreasing returns to scale (2) Constant returns to scale

(3) Negative returns to scale (4) Increasing returns to scale

AZ FIOH T (2) TF (r > 1) T AGF 2, 9 H T 0F I THE 1 50 27

(1) = 9 ST e (2) = W EE Tiawe
(3) WO T EERE AAEe (4 T W WEd 5T Miawe
Options:-

.1, Option ID :- 6081,
. 2, Option ID :- 6082,
« 3, Option ID :- 6083,

. 4, Option ID :- 6084,
Answer Given:- 4, Option ID : -6084

Question ID:- 1522

When demand is slack and market is competitive, firms follow which of the following pricing
methods?

(1) Penetration pricing (2) Peak load pricing

(3) Marginal cost pricing (4) Skimming pricing

W AP GE 7 A ST afeewel g, 91 w0 St § 8 G geae Tt # aem e 27

() - et @  w s gt (e s refm)
(3)  HAA A FeAERe (4  wuF et
Options:-

.1, Option ID :- 6085,
. 2, Option ID :- 6086,
. 3, Option ID :- 6087,

. 4, Option ID :- 6088,
Answer Given:- 3, Option ID : -6087

Question ID:- 1589




The cash flow approach to assessing debt capacity involves the following steps; arrange these
steps 1n a correct sequence:
(A) Specify the tolerance limit on the probability of default.

(B) Estimate the probability distribution of cash flows, taking into account the projected

performance of the firm.

(9] Calculate the fixed charges by way of interest payment and principal repayment

assoclated with various levels of debt.

(D) Estimate the debt capacity of the firm as the highest level of debt which 1s acceptable.

Choose the correct answer from the options given below:
(1) (D). (C), (A). (B)
(2) (4). (B). (C). (D)
(3) (B). (C). (D), (AN
(4 (D). (A). (C), (B)

T AHA AT 79 FHA] AT 9P ° efanga =m0 e #1 3 =00 F 5 %8 0 saatem Fi

Tl n

(A) % B i AT W sgiva A i din @b e

(B)  FH % ¥FHTMHA FEAFEEA S § TG 50 THA] TATE % GUIEa (S e e

(C) =W % fat9=1 & | 93 =40 GIaE AR geie T & 9159 @ Ea 99t i TeE |

(D) =R % T=a0d T T F =9 H FH 1 R0 SFE F AT

= fzu o fTwed 3§ TE IR =g A

(1) (D). (C). (A). (B)
(2) (A). (B). (C). (D)
(3) (B). (C). (D). (A)

(4) (D). (A). (C). (B)

Options:-

.1, Option ID :- 6353,
« 2, Option ID :- 6354,
. 3, Option ID :- 6355,

. 4, Option ID :- 6356,
Answer Given:- 4, Option ID : -6356

Question ID:- 1539




Which of the followings can be categorised as information processing services?

(1) Legal services (2) Health care

(3) Education (4) Management consultancy

=90 T TR T e (ST T AT ) § e S S o 27

(1) = End (2 T el ZE-ue
(3) Taem (4)  wEEE e
Options:-

.1, Option ID :- 6153,
. 2, Option ID :- 6154,
. 3, Option ID :- 6155,

. 4, Option ID :- 6156,
Answer Given:- 4, Option ID : -6156

Question ID:- 1538

Which one of the followings is not the service provided under NBFCs?

(1) Leasing services (2) Implementing modernisation

(3) Asset management services (4) Mutual benefit finance services bank

e

Frfafiag 4 & F9-91 T4 o O =@ % 2 T2 1 g A5 2 ¢

(1) vzl 5= Haw (2) e =5 e
(3)  wREeT TEEE HE (4)  uEETRE =re T HaE
Options:-

.1, Option ID :- 6149,
« 2, Option ID :- 6150,
. 3, Option ID :- 6151,

. 4, Option ID :- 6152,
Answer Given:- 1, Option ID : -6149

Question ID:- 1558




The reasons put forth for the control over the activities of the international banks are:
(A) These banks encourage inflation by adding stock of money supply through credit
creation

(B) These banks some times are responsible for bank failures that mar the interest of the

depositors

(C) They cause unmanageable indebtedness among the barrowing governments by

charging high interest rates

(D)  They do not adhere to the eredit allocation policy of the host government

Choose the most appropriate answer from the options given below:

(1) (A). (B). (C) only
(2)  (A).(0). (D) only
(3)  (B).(C). (D) only

4  A).®.(©C). D

HAALE Al = FEFATT T 0 % R0 =G T

(A) A <% "rg FHE o A ¥ gAld ek GEehild F aeE od 2

(B) T & # g9 H Fwf-wd & frwe 71 9m £ e swmnet # oers 5w A 2|

(C) 3 F=a =TS 21 I SUTThH] TTRET %1 UH ROl | ST 2d 7 (sehl =aa=41 781 & 9|

(D) = =& TR = U ATEE i 9 A6 e A

Hr= fou o fawewl § @ GeE 3UgE I H =9EA HirAC

(1) &= (A). (B). (C)
(2) %A« (A). (C), (D)
(3) Fa= (B). (C), (D)

4  (A).B).(C). D

Options:-

.1, Option ID :- 6229,
. 2, Option ID :- 6230,
. 3, Option ID :- 6231,

« 4, Option ID :- 6232,
Answer Given:- 4, Option ID : -6232

Question ID:- 1577




Match List I with Last IT :

List I List II
(A) PBonus shares () Inwvitation to existing share holders to
purchase additional new shares
(B) Demat shares (IT) Issue is made to existing members free
of charge
(C) Right issue (III) Shares issues by a company to its

employees/directors at a discount for
providing know-how

(D) Sweat equity share (IV) Shares in electronic form

Choose the correct answer from the options given below:
1 W-@M \B-I™) ©-0O O -0
(2) A-adn. @ - @O (©) - dn, @) - av
@ @-aIv, B-dn ©-a. O -d

b @-Iv), B-0. (©O-d. o - J1n

gt 1 % |1y g 11 &1 faerm Hifao

g I el 11
(A) = 3 () ddHE F9ETs 1 AfdieEa 79 39 G@iied w1 3
B) fele Fm (D) =du Heei & 9w i e s 2)
(C) s Frie (D) el ol g s sd=iedi/faerenl &1 SHeE
(A1-21%) YA % & fou gz o feifig s
(D) =9 Hal (=2 sfad) am (IV) s =9 aret 3

4= feu o fasredt | 98 39 1 999 Fifae

1 @-ad. ®-av. © -@O. O - dn
@ @-ad. ® -@. (© —-dph @O - av
3@ @A@-av. ®-dp. © -a. @O - O

@ @A@-amwm. ®-0O (©-a. O - dp

Options:-

.1, Option ID :- 6305,
« 2, Option ID :- 6306,
. 3, Option ID :- 6307,

. 4, Option ID :- 6308,
Answer Given:- 1, Option ID : -6305

Question ID:- 1511




FDI in Indian manufacturing has largely been

(1) Resource seeking (2) Efficiency seeking

(3) Market seelking (4) Export — orented

wrE % fmm = | e st fEw (FDD sfvsa w1 2

(1)  =EmeE & @ (2)  HEEEAT F 9
(3) =R & A (4) fEmgE
Options:-

.1, Option ID :- 6041,
. 2, Option ID :- 6042,
. 3, Option ID :- 6043,

. 4, Option ID :- 6044,
Answer Given:- 1, Option ID : -6041

Question ID:- 1542

Which one of the following is true for consumers?
(1) Consumers are rational and think in a linear manner
(2) Culture and society have relationship to consumers’ thoughts and feelings

(3) Consumers can be motivated to believe and internalise messages the way the
marketer desires

(4) Consumers can explain their thought and behaviour

(1)  IweT feeh 21 3 i oom =9 3 O B

(2)  HEHA U GHIE F SUEAHA F G 0 A ® HaY w2

(3)  SuwEATS i UiE = w1 wwan & R @ e ssemEn 95w ¥ favam v arenEa w1

(4)  IUYEE AU [SEE vd SEER Sl SR # GFd Al

Options:-

.1, Option ID :- 6165,
. 2, Option ID :- 6166,
. 3, Option ID :- 6167,

. 4, Option ID :- 6168,
Answer Given:- 2, Option ID : -6166

Question ID:- 1579




Match List T with List I :
List I (Methods of Inventory Control)

(A)

(B)

©)

(D)

List IT (Explanation)

JIT system (I) Divide the items into the categories in the
descending order of thelr usuage rate.

ABC Analysis (II) Divides items iInto categories 1n the
descenting order of their critical use.

FSND Analysis (III) Inventory arrive to the manufacturing sites
just few hours before they are put to use

VED Analysis (IV) The items of inventory are classified

according to value of usage.

Choose the correct answer from the options given below:

1H @W-O ®-d. (© - dn @O - IV
2 @W-I@m @®&-dn ©-av, O -0
3 @-On B -dav. © -@o. O - d
@ @WW-V), B-dy ©-a, @O -O
gefi T % |19 gt 11 &1 fgers hifau

g I (%6 fazam & fafean) gefi 11 (o)

(A) JIT foeey (@ a1l 3R 99 @k HER W HEE HH 4 fave =
Aufehd |
(B) ABC favemm (ID) a3l &1 36 aeel vam & snap o fave &0 2ofiea
Eaeil
(C) FSND fagerm (II) \MA-F F9E & 910 fde 99 & 9@ #5949 J8d
ferfmior +erer w wg=dt 21
(D) VED favemm (IV) =mH-HH $1 a3 &l b I7EM god & YR W G
feran v 2
f= fou o fawedi @ @ 3w @ = Hifu
1 @-O. @ - d). (C) — ). D) - daVv)
(2 @-@ ® -dn © -avm, O -O
(3 @-On. B -av). € -O. @O - d
4 A-IV), B) - D, (C) — ), @D — @D
Options:-

.1, Option ID :- 6313,
« 2, Option ID :- 6314,

. 3, Option ID :- 6315,

. 4, Option ID :- 6316,
Answer Given:- 3, Option ID : -6315

Question ID:- 1557




Which of the following explains downward slope of an ordinary demand curve?

(A) Income effect of price change
(B) Substitution effect of price change
(C) Utility Maximising behaviour of consumer

(D) Risk averse behaviour of consumer

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2)  (B).(C) and (D) only
(3) (A). (B) and (C) only

4 (A).(C)and (D) only

TreATeAfad | & =1 | 57 aF ) AT 3T T e A

(A)  goF UiEd # A 99|

(B) 77 TiTEEA 1 e T |

(C)  ITH/RT =1 IUHITET %1 AFHad 5@ AT =awr|

(D) 39S T SNGE YU e SHaE|

= f2u o faent ® @ me IuEE S 9EA il

(1) &= (A) 711 (B)
(2)  Fa (B). (C) #i (D)
(3)  Fa= (A). (B) 3 (C)

(4) === (A). (C) =F (D)

Options:-

.1, Option ID :- 6225,
. 2, Option ID :- 6226,
. 3, Option ID :- 6227,

. 4, Option ID :- 6228,
Answer Given:- 3, Option ID : -6227

Question ID:- 1580




Match List I with List I :

List I List IT
T (b-a)°
(A) Probability distribution D o= 12
(B) Binomial distribution I o= \"IZ plx — ,u}ﬂ
(C) Hyper geometric distribution (i) & =+/npq
N AYEAYE
(D) Uniform distribution Iv) o= \'I RL%J {%] [i _T}

Choose the correct answer from the options given below:

1 @-Id. @ -dDh © -av. @O - @

@2 @w-1m ®-dh ©-0O O -av)
@ @-Im ®-0 (© -dn @O - av
@ WwW-O ®-3d. (© -adn @O -av

He 1o w9 = 11 w1 fgem Fifsw
g 1 ol 11

; _ l(b—q)®

(&) Hurea faa _|b-q
A T

®) feve de ) =45 px -’
(C) =3 S famm D) o =4npq
D) UHEAA foa _ | [ﬂ 'Nﬂ](”‘”]
e &0 msy e NJ(N_ N

Hr9 feu u faweqi @ T I &1 =934 Fhife

1 @-ad. @ - dn, © -av)., O - @

2 @W-@. ® -dn ©-@OM @O -aW
3 @W-am. @ -@. (© - dadmn, @O - av
@ @W@W-O @ -d. (© -dDn, O - adav

Options:-

.1, Option ID :- 6317,
. 2, Option ID :- 6318,
. 3, Option ID :- 6319,

« 4, Option ID :- 6320,
Answer Given:- 1, Option ID : -6317

Question ID:- 1516




The accounting standard AS3 (Rewvised) has become mandatory w.e.f. accounting periods

beginning from 01-04-2001 for which of the following enterprise?

(1) Commercial. industrial and business reporting enterprizes whose turnover for the

accounting period exceeds ¥ 50 crores.

(2) Enterprises whose debt or equity securities are not listed on a recognised stock

exchange.

(3) All enterprises whose turnover exceeds ¥ 2 crores.

(4 Only banking and insurance

Frfafiga § @ T 328 % 0 01-4-2001 & TRE =H A o@E AaieE & o AS3 (i)

g, RTR [ X 53
TR HIHH A 7 TR

TS0 FUS § Al =+ =
(2) = zEm T =  sfEad afayf el aea-are = v W g T A
(3) =i 3= T e T 2 s ° st F |
(4) e AR AR
Options:-
.1, Option ID :- 6061,
« 2, Option ID :- 6062,

. 3, Option ID :- 6063,

« 4, Option ID :- 6064,
Answer Given:- 3, Option ID : -6063

Question ID:- 1517

CCA method of inflation accounting is as a result of the recommendation of ?

(1) Wandilands Committee (2) Tandlelands Committee

(3) Sandilands Committee (4) Marrvlands Committee

it s 1 w6 o fafa feee T oo 27

(1) =Eriga =ik 2 Cscreisa T
(3) HEriTH Tl (4) dfc=w ol
Options:-

.1, Option ID :- 6065,
. 2, Option ID :- 6066,
. 3, Option ID :- 6067,




. 4, Option ID :- 6068,
Answer Given:- 3, Option ID : -6067

Question ID:- 1519

The cross elasticity of demand between the complementary products 1s:

(1) Positive (2) Zero
(3) Negative (4) Infinite

(1) oIS (2 =4
(3) ERUIR=ES (4) T
Options:-

.1, Option ID :- 6073,
. 2, Option ID :- 6074,
. 3, Option ID :- 6075,

. 4, Option ID :- 6076,
Answer Given:- 3, Option ID : -6075

Question ID:- 1525

The theory which explains the effect of devaluation on balance of trade 1s known as:

(1) Phillips Curve theory (2) Mundell — Tobin Hypothesis
(3) J Curve Theory (4) K Curve Theory

97 fogia =1 =R Tged % Ty § 9gedd & U9 i SATE Bl 8, Hael &

(1)  Tofem =1 9% fogm (2)  H=E-2ZifEA T
(3) = == fage (4) = == faga
Options:-

.1, Option ID :- 6097,
. 2, Option ID :- 6098,
. 3, Option ID :- 6099,

. 4, Option ID :- 6100,
Answer Given:- 3, Option ID : -6099

Question ID:- 1569




Environmental characteristics/factors influencing distribution decisions are

(A)
(B)
(©)
(D)
(E)

Government policy

State of economy

Social activistizm

Technological and infrastructure developments

Statutory provisions

Choose the most appropriate answer from the options given below:

(1)
)
(3
4@

(A). (D) only

(B). (C). (E) only

(A). (C). (D) only

(A). (B). (D). (E) only

faero figi @1 gafaa & arel waiefl Afisam /s 2

(Aa)
(B)
(©)
(D)

(E)

waR Hifd
ATt AfFa
wigifirhl ve sifETE e

erf sTaeT

A fqu o faebedi 4 | HaH I9gFd I k1 G54 I

(1)
(2)
(3)

(4)

®ad (A), (D)
#9e (B), (C). (E)
%de (A), (C). (D)

Fad (A), (B). (D), (E)

Options:-

.1, Option ID :- 6273,
. 2, Option ID :- 6274,
. 3, Option ID :- 6275,

. 4, Option ID :- 6276,
Answer Given:- 4, Option ID : -6276

Question ID:- 1599




Given below are two statements:

Statement I : Capital market plays an important role in mobilising resources and

diverting them in productive channels.

Statement II : Capital market 1s a market where buvers and sellers engage in trade of

financial securities like bonds. stocks. etc.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

= =1 Fe faw o )

FA1 . FEWGA F AT F U9 I S I9H0 H g AT aaedyy e w1 FEE =

FIL: U IR 97 GEE 2 A8 Hal w9 faskar fadE glagfaa S8 avs, w2 e & saeE g

Ter 7 A

I FYA F AR §, A9 5 T e 6 ° geE 399 I F =9 Hian)

(1) = I = I0 SF ue B
(2) w3k I =61 7= 2
(3) =W [ He1 2, =i e I 7ed 2

(4) = 7 2, o w5 I T8 2

Options:-

.1, Option ID :- 6393,
« 2, Option ID :- 6394,
. 3, Option ID :- 6395,

. 4, Option ID :- 6396,
Answer Given:- 1, Option ID : -6393

Question ID:- 1523




What 1s the value of a levered firm “L” if it has the same EBIT as an unlevered firm “U”,

(With value of ¥ 700 lac), has a debt of ¥ 200 lac. tax rate is 35% under MM approach?

(1) Z950 lac (20 ¥ 6301lac

(3) T 770 lac 4) ¥ 525 lac

et =mifer ®H “L” =1 o3 w0 =W At s O € st aie & Gt ameifem w4 U, (700 s '

e FTeA) T B A9T 66 9 200 TG R0 U UH UH AU B e 35% =i B g R

(1) 950 =g == (2) 630 = T
(3) 770 =@ w94 (4) 525 =@ T
Options:-

.1, Option ID :- 6089,
. 2, Option ID :- 6090,
. 3, Option ID :- 6091,

. 4, Option ID :- 6092,
Answer Given:- 3, Option ID : -6091

Question ID:- 1566

Which of the following statements lis/are correct regarding application of data mining
techniques?

(A) Predicting future trends based on information available

(B) Electronic data interchange

(C)  Analysing demographic information about customers

(D) Credit risk analysis

Choose the correct answer from the options given below:

(1) (B) and (D) only
(2) (A). (B). (C) and (D) only
(3)  (A). (B)and (D) only

(4) (A). (C) and (D) only




121 WIS AT 6 TEN H Heihd HeteTiad 8 8 -8 HeE 50 27

(A)  IUCEg G TGN W Gl i S Fwe

(B)  Seiwgitn el HAatdiE

(C)  wmaai =l FATHehE G 1 favetaor e

(D) =R wEs g

= f2u U fermedt § © OE 3T 1 =99 it

(1) === (B) @ (D)
(2)  Fa4 (A), (B), (C) 1R (D)
(3)  Fad (A), (B) N (D)

(4  FAd (A), (C) 7 (D)

Options:-

.1, Option ID :- 6261,
. 2, Option ID :- 6262,
. 3, Option ID :- 6263,

« 4, Option ID :- 6264,
Answer Given:- 2, Option ID : -6262

Question ID:- 1526

The annual demand for an item is 3.200 units. The unit cost is ¥ 6 and inventory carrving
charges 25% p.a. If the cost of one procurement is ¥ 150, determine number of orders per
year:

(1 3 2y 4

(3) 6 (4) 800

forefl @ 1 AT "M 3200 TS 2| S FI A 6 T B S WA ZTE AR 25% TfaEd 2| A4 o
FiE F FFE 150 T 2 A7 SE 1 S [ i)

(1) 3 @2 4
3 6 4 800
Options:-

.1, Option ID :- 6101,
. 2, Option ID :- 6102,
. 3, Option ID :- 6103,

. 4, Option ID :- 6104,
Answer Given:- 2, Option ID : -6102




Question ID:- 1551

Identify the principles of trade policy framework from the followings under the WTO:

(A) Reciprocity and transparent

(B) Benefactory and resilient

(C) Non-discriminatory

(D)  Binding and enforceable commitments

(E) Protective and benevolent

Choose the correct answer from the options given below:

(1) (A). (B) and (C) only
2 (C). (D) and (E) only
(3) (A). (C) and (D) only
(49 (B). (D) and (E) only

farga =aME waA % sAara, Fefefad 4 9 s g e fagal $ gEee it

(A)  TRETERA R TEEs
(B) Teasdl a7 eiien

i, [l

(C)  aAfad=sri

(D)  STETFAl AR TaaHE aEaegae

(E)  =asqneds i fzddi

= fau o et § 0 IE I W =9 Hiew

(1) Fa9 (A). (B) 311 (C)
(2)  =Faw (C). (D) 5T (E)
(3)  Fae (A). (C) 31 (D)

(4) I (B). (D) ¥ (E)

Options:-

.1, Option ID :- 6201,
. 2, Option ID :- 6202,
. 3, Option ID :- 6203,

« 4, Option ID :- 6204,
Answer Given:- 2, Option ID : -6202

Question ID:- 1598




Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion A : Mean deviation is about 80% of Standard Deviation.

Reason R:  The quartile deviation is about 2/3 of the Standard Deviation.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true and R is NOT the correct explanation of A
(3) A is true but R 1is false

4 A 1s false but R 1s true

= =1 FUA Tow T F| v AR (Assertion A) & ¥9 ° ToiEd 2 A 580 39 FEW (Reason R) F

=|q

AT A T15F [Faed THF HEed F wET 80% T A

FE0 R : ﬂﬁ?i_-ﬁ [e=e TS T9=aq 51 =79 2/3 7a _r}l
IHIF FE F AE °H, A6 5 T fawe § | weE ST S H =9 i)

(1) A &R R A @@ 7 3K R, A F1 9 = 2|
(2) A 3R R T8 # 3k R. A 41 781 = 76 2
(3) A TF 2 A ROd T8 2

(4) A @ E 2 oA R @8 2

Options:-

.1, Option ID :- 6389,

. 2, Option ID :- 6390,

« 3, Option ID :- 6391,

. 4, Option ID :- 6392,
Answer Given:- 2, Option ID : -6390

Question ID:- 1573




Which of the following income 1s generally chargeable under the head of income from other
sources?

(A) Income from subletting house property

(B) Director fee

(C) Ground Rent

(Dy  Agrcultural Income from outside India

(E) Insurance commission

(F) Income from sale of securities

Choose the most appropriate answer from the options given below:

(1)  (A). B). (D). (E) only

(2) (B (©), D). (E). (F) only
(3)  (A). (B). (C). (E), (F) only
4 @A), B, (C). (D). (E) only

freaferfian § - 38 qWREA: 3 HiE 8 3 e % ST e 27

(A) 7 HIM & HE-cle A H T S

®)  fgus gk

(€)  fu forern

(D)  WRd % «TE H i § 3
(E) st sefrer

(F)  ufagfei & fasea 9 g s

e feu o foeredl 4 | wa8 IUgF I F T4 I
() %9 (A), B). D). (E)

(2)  &a@ (B), (C). (D), (B). (F)

(3)  HaA (A), (B). (C), (E). (F)
(49 %94 (A), (B). (C), (D). (E)

Options:-

.1, Option ID :- 6289,
. 2, Option ID :- 6290,
. 3, Option ID :- 6291,

« 4, Option ID :- 6292,
Answer Given:- 1, Option ID : -6289

Question ID:- 1556




Identify the necessary conditions for price discrimination:

(A) There should be imperfect competition in markets
(B) Markets must be separable
(C) Differentiated products and interdependence between firms

(D) Elasticity of demand must be different in different markets

Choose the most appropriate answer from the options given below:

(1) (A). (B) and (C) only
(2) (A, (C) and (D) only
(3)  (B).(C) and (D) only

(4 (A). (B) and (D) only

g7 fadeT = foru savas w4t =1 fafema Ffifqw

(A) =R A Y SiaEEyl wE =)

(B) @SN H JUFHE 2T @a
(C)  Tawdra 3o 3 FH1 F o= WER

(D) Tatga =r=m | 5 A= e w5 =)
Fret fou Tu foepedt © O weE SugE I 1 95 FifA

(1)  =ae (A). (B) 31 (C)
(2)  =ae (A), (C) 3K (D)
(3) === (B). (C) 3 (D)
(4) =t (A, (B) 31T (D)

Options:-

.1, Option ID :- 6221,
. 2, Option ID :- 6222,
. 3, Option ID :- 6223,

. 4, Option ID :- 6224,
Answer Given:- 4, Option ID : -6224

Question ID:- 1565




Which of the followings is not an approach to the structure of Indian Financial system?

(&)
(B)

(©)
(D)

A brokerage can be either full service or discount

The financial system 1s concerned about money, credit and finance, the three terms

are intimately related vet are some what different from each other
Housing finance simply refers to providing finance for venture capital

Financial instruments may also be divided according to asset class, which depends on

whether they are debt-based or equity based

Choose the correct answer from the options given below:

(1)
(2
(3)
(4)

(A). (C) and (D) only
(B) and (D) only

(C) only

(A) and (C) only

frafafan @ & ®=H-m1 3urm wwdE foeiEm 73 F 2" 1 mEtig T6 20

(A) =Tt Ul AT A1 w2l B w2

(B) Fﬂ#ﬂﬂjﬂﬂﬂﬁﬁlﬁﬂﬂﬂfdﬁ%;Jﬁqawayﬁﬂhqqﬁﬂ@?ﬁiﬁ:ﬁ—ﬁ
- HE B

(D) forelta suspaoni =1 il =t % smaw @ fowifsa B s o 2, o 59w fad w2 A
SHU-HTHIRA 7 A1 Sfaaei-sarid |

= f2u o fawedt O © TR IR H =299 i,

(D 4 (A). (€) # (D)

(2) = (B) #F (D)

(3) == (C)

(4)  FEA (A) 3 (C)

Options:-

.1, Option ID :- 6257,

« 2, Option ID :- 6258,
. 3, Option ID :- 6259,

. 4, Option ID :- 6260,
Answer Given:- 3, Option ID : -6259

Question ID:- 1543




The amount of penalty for making a false statement to the “Competition Commission™ by a
person who 1s a party to a combination shall be between

(1) 20 lakhs to 50 lakhs (2) 50 lakhs to 1 crore
(3) 8 lakhs to 10 lakhs (4) 70 lakhs to 1 crore

Iia TRl TR #1 H2E HE SATFG TioeEl AEE % AEA P31 S 3 7, 1 3H o0 #9EE

(1) 20@mE & 50 =g (2) 50@m@EHE 170
(3 8=mH 10#/a (4 T09@E 1FS
Options:-

.1, Option ID :- 6169,
. 2, Option ID :- 6170,
. 3, Option ID :- 6171,

. 4, Option ID :- 6172,
Answer Given:- 2, Option ID : -6170

Question ID:- 1534

Usually in which one of the following performance appraisal technigue., subjects
self — ratings are negatively correlated with their subsequent performance in an assessment
center?

(1) Appraisal by subordinates (2) 360 — Degree feedback

(3) Self — ratings (4) Peer Appraisals

;g 9 @ fRE SR oA a9 8 FRET 5earEA deg 9 el § E gedarh

IO AT FEEEET ¥ T A HeH R S R Y

(1)  7efiesn gr gearsa (2) 360 foifi Fress

(3 =i (4)  TEHHET gRT geATEA
Options:-

.1, Option ID :- 6133,
. 2, Option ID :- 6134,
. 3, Option ID :- 6135,

. 4, Option ID :- 6136,
Answer Given:- 2, Option ID : -6134

Question ID:- 1578




Match List I with List I :

(A)
(B)
{(®)
(D)

ListI

Objectives of business firms

Long-Run Survival

Sales Revenue maximisation

Firm's Growth Rate maximisation

Managerial utility Function

maximisation

List IT

Economists
(I) Marris. Robin
(ID)
(IIT)

Iv)

Williamson, D.E.
Rothschild. KW.
Baumol, W.J.

Choose the correct answer from the options given below:

1 @A-1. @ - dn, (©C) - av.
2 @-aw. ® - d. (© — d,
(3) (&) —-1D. B — dAV). (©) — D.
4 @A-1. @ - dn, © — @D.
o= 1% @ g 11 =1 fgere it
7= I (== F1 & w=vd)
(A) e SaslEa
(B) To#a == w1 Alawaq
(C) T i I o F AlTFad H
(D) TR ITANTE T B SAaEan F
= fou U el @ TE I R =9I Hi
(1) A)-dID). By — dII), (C) — dOv).
(2) (A)y—(IV). (B) — II), (C) — (III).
3  A)—@n. (B) — V). (C) — (@.
(4) (A) — (I, (B) — (III), (C) — (D.
Options:-
.1, Option ID :- 6309,
. 2, Option ID :- 6310,
. 3, Option ID :- 6311,
. 4, Option ID :- 6312,
Answer Given:- 3, Option ID : -6311

D) - @
D) — @D
D) — dn
(D) — @)

Tt IT (7o)
(Iy =\, e[
(I fafem, 2.

(I) TeE=Tses, .55

(IV) =i, 5599

D — @
Dy — (D
D) — {ID
(D) — (IV)

Question ID:- 1544




‘A’ Minor takes a loan of Rs.4,000/- from ‘B’ during his minority, on attaining majority. he
applies to ‘B’ for a further loan of Rs. 3,000/- ‘B’ gives this loan and obtains from ‘A’ a
combined promissory note of Rs.7,000/- for the two loans. This is considered as:

(1) Void Contract (2)  Valid Contract
(3) Illegal Contract (4) Unilateral Contract

S A’ WO AEEERAT % SNH BT F %.4,000 U ST 2| 990% BH W gE BE e %.3,000
it W =9 F o st w21 B A WO 2 A1 3R AT @ 2 e W U %.7,000 F HGE
TTETT—9 =T 7 91 59 " SE

(1) =4 "ia= (2 gt
(3) TR Hiaw (9 wEwE FEE
Options:-

.1, Option ID :- 6173,
. 2, Option ID :- 6174,
« 3, Option ID :- 6175,

. 4, Option ID :- 6176,
Answer Given:- 2, Option ID : -6174

Question ID:- 1536

Which one of the following 13 not the characteristics of mutual funds?
(1) Consistent Investment process (2) Strong fund management

(3) Diversity in interest rates (4) Differences from the benchmark

frfeifian § & ®A- =9 %3 1 v fawa w6 27

(1) ==a fEe ol @ 37 At
(3) == = A fREEE (4 =T e
Options:-

.1, Option ID :- 6141,
. 2, Option ID :- 6142,
. 3, Option ID :- 6143,

« 4, Option ID :- 6144,
Answer Given:- 2, Option ID : -6142

Question ID:- 1568




Requirements for effective market segmentation are:

(&)
(B)
(©)
(D)
(E)

Accessibility
Differentiation
Measurable
Vioble

Intensity in competition

Choose the most appropriate answer from the options given below:

(1)
@)
(3)
(4

(A). (B) only

(B). (C). (E) only

(A). (C). (D) only
(A). (C), (D). (E) only

Tt sran fawadieon 6 sravaedand 3 .

(A)
(B)
©)
(D)

(E)

Sl
feridiarro
wnyfry

gfeifiran <i1 waan

1= feu mu foeredi H B gy Iy IW & 934 Hifaw

(1)
(2)
(3)

4

*ad (A). (B)
4 (B). (C). (E)
4 (A), (C). (D)

Fad (A), (C). (D), (E)

Options:-

.1, Option ID :- 6269,
« 2, Option ID :- 6270,
. 3, Option ID :- 6271,

. 4, Option ID :- 6272,
Answer Given:- 4, Option ID : -6272

Question ID:- 1581




Match List I with List II :
List I (Organisational Design)

(A) Learning organization {@

(B) Spaghetti organization (I

(C) Fishnet organization (III)

(D) Network structure (IV)

Hql T |19 g4l 11 &1 fyerq Sifon
el 1 (wrrafis sAfuse)

(A) wferm Hrad
(B) HHTEdl HoraA

(C) THerHe HreA

(D) Fedh HT=1

Options:-

.1, Option ID :- 6321,
« 2, Option ID :- 6322,
. 3, Option ID :- 6323,

« 4, Option ID :- 6324,
Answer Given:- 2, Option ID : -6322

List II (Features)
Flexibility in the structure or Lack of structure

Linking of separate parts of the same organisation
or networking of separate organisations to
accomplish a common goal.

The ability to continually change structure and
internal processes to conform to feedback with the
environment.

Flexible, adaptable, rearranges itself quickly while
retaining its inherent strength

Choose the correct answer from the options given below:

(1 (A -{D. B) - {d). (€ - av. O - @

@ @-Oh ®-O (© a0 @O ~d
(3) A-O @® - av). ¢ - ddn, Oy - dn
4 @A-adn. ® - @O. (©) - av. @) — D

g 11 (farsmam)
@D EH=H T SYE g 6wl
(ID ©HH e & A WA Hl A U] HHHE
Ze7 i [ & I o= wel i et
(IID) H&=1 <l ofman Iiada 6l graar i s i
uferan ufters &\ ufagfee v 3 & fou
(IV) 9=, Ugv & g9, 36 SAAHTEd e w6
HATRY S 7Y A9l H W afRE & 2

H= feu wu fasmedi 3 w8l 39 &1 ==H fifau

1 @-1n ®-3ad. © -av. O - @

2 @-apn ®-0O ©-av. O - ad
@ @@-O @®-av. (© - dn. @@ - dp
@ @W-I. ® -@O. (© - adv. @O — dDh

Question ID:- 1553




Which of the following events after the balance sheet date would normally qualify as
adjusting events according to AS-4 (Events after balance sheet date)?

(A) The insolvency of a customer on the balance sheet date
(B) A decline in the market value of iInvestments
(C) The declaration of an ordinary dividend

(D) The determination of the cost of assets purchased before the balance sheet date

Choose the most appropriate answer from the options given below:

(1) (A). (C) and (D) only
(2) (A) and (B) only
(3) (B) and (C) only

(4) (A) and (D) only

o fafa = =g 1 Fefeiaa § #E-w gz gwEa: AS-4 (FeET fqfg % 9 f g9en) F e
W HHESF T2 qHT ST

(A) g # fafy o vk g i e b

B) FE= % amw gen | e

(C) [T\ =aT it =Jryon

(D) T Tt = 7wl T aREE A e

= fou 0 faedl @ @ TEE 3999 9 H =E4 FiAC

(1) == (A). (C) 5 (D)
(2)  Fad (A) 3 (B)
(3)  Fa (B) ¥ (O)
(4)  FE (A) 3T (D)
Options:-
.1, Option ID :- 6209,
. 2, Option ID :- 6210,

. 3, Option ID :- 6211,

. 4, Option ID :- 6212,
Answer Given:- 2, Option ID : -6210

Question ID:- 1548




Maximum tax-free limit for payment received under voluntary retirement scheme is:
(1) Rs. 4.00,000 (2)  Rs. 5.00.000
(3) Rs. 8.00.,000 (4)  Rs. 10.00,000

Tfoa® FA T & A T FTAE F e Afawan F-ga Hm 2

(1) Rs. 4.00,000 (2)  Rs. 5.,00.000
(3) Rs. 8.00,000 (4) Rs. 10.00,000
Options:-

.1, Option ID :- 6189,
. 2, Option ID :- 6190,
. 3, Option ID :- 6191,

. 4, Option ID :- 6192,
Answer Given:- 2, Option ID : -6190

Question ID:- 1552

The rights of the consumer as enunciated under section 6 of the consumer protection Act,
1986 includes:

(A) To be protected against the marketing of goods and services which are hazardous to
life and property
(B)  To be assured the competitive price and low cost quality products and services

(C) To be assured that consumers’ Interests will service the due consideration at

appropriate forums
(D)  To be protected for multiple use of products, profits, diversity and equity.

(E)  To be informed about the quality. potency, purity and price of goods or service

Choose the correct answer from the options given below:

(1) (A), (B) and (C) only
(2)  (B).(C) and (D) only
(3)  (O). (D) and (E) only
(4) (A), (C) and (E) only




SUIFAT TV ATUEE, 1986 F UWT 6 % STAN IUHGASA b SAGER 4 (Heferiaa e 2

(A) v T SR gareT & fawen F feg e | fiaa 3 guta = for Aifemgt 2)

(B)  wiqanil ge=r 9 f=etrma Turasn are SeaTel S Bt 1 A |
(© TE AT 6 STas % el W H_JEI. 9 T T 3= TTEE T S
(D)  3curg, =W, Tafggar 9 T % "5 W Ag S|

(E)  3em @ Tanett i o, A, TE@ F 579 F 9% A graw w5 S

Hra fqu e fapei § & TE I H 9 i

(1)  =ad (A). (B) 31 (C)
(2)  Faw (B). (C) ¥ (D)
(3) &= (C). (D) 3kt (E)

(4)  FaE (A). (C) =1 (E)

Options:-

.1, Option ID :- 6205,
. 2, Option ID :- 6206,
. 3, Option ID :- 6207,

. 4, Option ID :- 6208,
Answer Given:- 4, Option ID : -6208

Question ID:- 1595

Sequence the steps for computing depreciation in income from Business and Profession :

(A) The written down value of each block as on the last day of previous year
(B) Find the value of each block at the beginning of each year

(C) The money received along with scrap value, if any in respect of the same blocks, which

are =old/ discarded during the vear

(D)  Assets required during the year in the respective blocks to which the new assets

belong

Choose the correct answer from the options given below:

1) (A, ®B).(©).D)
@  (B.D.©).A
3 (A ®.D).©

4 [D.(B). ). A




SqEE Ud U9 H B4 arell 37 ° g o e & S0l & weeg

(A)
(B)
(C)

(D)

frset |1t % 3ifaw foq a0 weafa @ smfefiaa gog
7 A & RH H & HeI 1 ged S
ad % < S e 9= /e Al 2, 3% gy i srafire ge, Jfe #iE A1, % @y g o

g4 & N FHY: 34 aefel & foe smavge uiegafai fad af afraafa gefaa 26 2)

= feu o fawedi 0 @ wd I w1 T it

1)
(2)
(3)

4)

(A). (B), (C). (D)
(B). (D), (C). &)
(A), (B), (D). (C)

(D), (B). (C). (A)

Options:-
.1, Option ID :- 6377,
. 2, Option ID :- 6378,

« 3, Option ID :- 6379,

. 4, Option ID :- 6380,
Answer Given:- 4, Option ID : -6380

Question ID:- 1596

Given below are two statements. One 1s labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : Foreign investment is playing an increasing role in economic development and

contributes to a significant share of the domestic investment, employment
generation and exports.

ReasonR:  Substantial increase in the magnitude of capital inflows have remarkably

In the
given

below:

€Y
(2)
(3)
€))

improved the balance of payments and foreign exchange reserve position.

light of the above statements, choose the most appropriate answer from the options

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct and R 12 NOT the correct explanation of A
A is correct but R is not correct

A 1s not correct but R is correct




_

F= @1 w5 T F| R AEI (Assertion A) F FU H TWi@d # @ 75 35F FWW (Reason R) F

=W

aAtwrea A fagefi fawr anfd= fawm § wifuias yfew Ttz w0 @ 2 ol =i f9w, T oo =
Tofa o wEeagel ATEE W T R

FOOR: Ul F 36 VAR % fGn 6 55 geeayyl gfg 9 WA Hae #n el g Hsw i et |
SeerEHE guw e |

IHIF F F AR H, A4 5 T e § ® weE 39T 9 H =9E i

(1) AR RS @A ¥ 9K R, A 1 7 =men 2
(2) At R A wé # o R, A $i g swen T 2
(3) A= ? o R w1 ¢ 21

(4  Awd 7F 2 3 R @@ 2

Options:-

.1, Option ID :- 6381,
. 2, Option ID :- 6382,
. 3, Option ID :- 6383,

. 4, Option ID :- 6384,
Answer Given:- 1, Option ID : -6381

Question ID:- 1570

Which of the following statements are true regarding the objectives of Right to Information
Act? Indicate the correct code :

(A) To operationalise the fundamental right to information

(B) To set up system and mechanisms that facilitate people’s easy aceess to information
(C) To promote transparency and accountability in governance

(D) To minimize corruption and Iinefficiency in public offices and ensure people

participation in governance and desicion making

Choose the correct answer from the options given below:

(1) (B). (C) and (D) only
(2)  (A). (B). (C) and (D) all
(3)  (A). (B). and (C) only
(4) (A (B) and (D) only




freferfiaa § -0 sua gu w1 sfusn sifufem & sewl % gda § am 27 98 $ie &1 =3 51
(A) = % Hifds stfusr w1 g=ifed &

(B) 3 yunferi @ @ @l S A1 S HA1 1 g a1 0 S #d 2

(C) 9 § qrefsfen 3 sraracdl sl dieaTtad S

(D) Gl wEleEl § W 9 e # A S a9 I s foka O i L oanferd

Hifrad #

d fou o faeedi # A wdl 3en o == ifiu

(1) %34 (B), (C) 31 (D)
(2)  ®EE (A), (B). (C) HE (D)
(3)  HaA (A), (B) 31 (C)

(4 Fdd (A), (B) 31T (D)

Options:-

.1, Option ID :- 6277,
. 2, Option ID :- 6278,
. 3, Option ID :- 6279,

« 4, Option ID :- 6280,
Answer Given:- 1, Option ID : -6277

Question ID:- 1550

Any planning of tax which aims at reducing tax liability in legally recognised permissible

way can be termed as an instance of;

(1) Tax planning (2) Tax avoldance

(3) Tax evasion (4) Tax management

‘F1E F AT fAEw 32w FA B9 9 grgAwd d99 @fh @ 0 3gar § 1 9 B 2, 39 68

A 7

(1) = Fe (2 iR

(3) =W (4) = TEEE
Options:-

.1, Option ID :- 6197,
. 2, Option ID :- 6198,
. 3, Option ID :- 6199,

« 4, Option ID :- 6200,
Answer Given:- 1, Option ID : -6197

Question ID:- 1575




The exemption with respect to HRA 1s based upon the following factors?

(A) Rent paid

(B) Place of Residence
(C) Salary

(D) HRA Received

(E) Fair Rent

(F) Market Rent

Choose the most appropriate answer from the options given below:

(1) (A, (B), (C), (D) only
2 (@A), (©). D). (F) only
(3)  (A). (B). (C). (F) only
4 (A (B). (E). (F) only

geh febern e § e FHefafaa sl w 2
(A)  yaE fer

B) FrEmwm e

(C) &

(D)  ured wHH fern g

(E)  3faa femran

(F)  «ran fmrrmn

Hr feu o foeredi 0 9 wad Iugad I &1 9749 Hifau

(1) %4 (A). B). (C). (D)
2 %44 Q). ©). D). (F)
3 =9 Q). B). ©). F)
4 F= Q). B). ). (F)

Options:-

.1, Option ID :- 6297,
« 2, Option ID :- 6298,
. 3, Option ID :- 6299,

. 4, Option ID :- 6300,
Answer Given:- 1, Option ID : -6297

Question ID:- 1585




Match List I with List I :

List I List IT
(A) Section 80 EE (I) Deduction in respect of rent paid
(B) Section 80 GG (I) Deduction in respect of certain

donations for scientific researches

(C) Section 80 GGA (ITI) Deduction in respect of Interest on

loan taken for residential house

(D) Section 30 E (IV) Deduction in respect of payment of
Interest on loan taken for Higher
Education.

Choose the correct answer from the options given below:

1 @A@-d. @ -av. © -@dO. @O - dm
2 @G-an @ -0O. (© -ad, @O - av
3 @-dan ®-@0O. (© -avm. O - I
@ @A-I. @\ -aVv. () - dn. D) - @

e 1o |1 g1 1T &1 faerm difao

Hﬁ:lI H;ﬁﬂ
G HmralER ® e o e e % s i
(B) 9 80 GG an aa]ﬁ;ﬁmﬂ%ﬁmaﬁffﬁaaﬂﬁqr@mﬁ
(C) Wl 80 GGA (IID) Fram 35w 3q for a0 36 T AT 3 WAy i
(D) W 80E R T ———w

4 feu o fasedi 9 wdl 3 &1 =99 Fifu

H @G-am ®-av. ©-O. O - Jdn
2 @G- ®B-O © -4 @O -adv
3 A-dn ® -O (© - avn. D) - an
@ @W-a. B -V, © - D, O - O

Options:-

.1, Option ID :- 6337,
« 2, Option ID :- 6338,
« 3, Option ID :- 6339,

. 4, Option ID :- 6340,
Answer Given:- 2, Option ID : -6338

Question ID:- 1576




Match List I with List I :

A)
(B)

(C)

(D)

List1

International finance corporation

International Development

Assoclation

‘World Intellectual property

organisation

List II
@ 1944
) 1967

(IIT) 1956

International bame for reconstruction (IV) 1960

and Development

Choose the correct answer from the options given below:

(1)
(2)
(3)
€Y

&) -@v)., @ - M.

@A) -an. @ - adv.
(A)—(ID. (B) — dD.
(A) - D, B) — aAv).

(©) — (ID).
© — @.

(€) — av),
(C) — D),

Hel T |19 g4l 1T &1 faar &ifao

(A)
(B)
(©)

(D)

Hel 1
ZEHAIAE FIEAH HRINIH

9= feu mu faedi | 98 39 @ 999 Fif .

(1)
(2)
(3)
(4)

Options:-

.1, Option ID :- 6301,
. 2, Option ID :- 6302,

. 3, Option ID :- 6303,
« 4, Option ID :- 6304,

Answer Given:- 4, Option ID

A -0TV). B — @. (C) — ().

A -1, ® — av). (© — .

(A)—-dID. B) — dn, (©) — av.

(A)—(IID). B) — AV). (C) — (1D,
: -6304

(D) — I
(D) — (11D
D)y - DO
D) - @
o= 11
@ 1944
I 1967
(III) 1956
@IV) 1960
D) —
D) — (IID)
D) - @
D) - @

Question ID:- 1540




Which of the following is not true about rural markets?

(1) Print media 1s not necessarily impactful in rural markets.

(2) Rural customer is price sensitive.

(3) No significant change may be required in the advertising copy.

(4) Products should be simpler, easy to use, service and maintain.

T ° A wrH A % fawm J ad aE 2 v

(1) =% AEyS® 771 2 5 o= ditean oo smm | off wsmas =)

(2) T WEE ged AT wa A

(3) fasm ufa 4 FFeft Tecauet aftada i sEvTwar 7= 2

(4) 30T WA B FN IHF I U4 TE-TEE ° AT A

Options:-

.1, Option ID :- 6157,
. 2, Option ID :- 6158,
. 3, Option ID :- 6159,

. 4, Option ID :- 6160,
Answer Given:- 1, Option ID : -6157

Question ID:- 1549
A 1s Resident in India aged 60 years earned agricultural income of Rs.5,00.000 and non-
agricultural income Rs.3,00,000 during the previous year 2019-20. What 1s tax libaility of A?

() Rs.72.000 (2) Rs.72.100
(3) Rs.2.600 @ Nil

‘A’ Wi & Al 2 et 3w 60 a7 ol 5@ e ad 2019-20 § HfY & a7 %.5,00,000 FHT H-H

T %.3,00,000 FF| ‘A’ i T =T T A7

(1) %.72,000 () %.72,100
(3) ¥.2,600 @ 7=
Options:-

.1, Option ID :- 6193,
. 2, Option ID :- 6194,
. 3, Option ID :- 6195,

« 4, Option ID :- 6196,
Answer Given:- 2, Option ID : -6194

Question ID:- 1594




Arrange the following procedure for the grant of patent in a proper sequence :

(A)

(B)

(C)

(D)

The true and first owner shall apply in form I and legal representative of true owner

shall apply in form II

A complete specification shall be filled with a fee of Rs. 50/- within 12 months from
the date of filing of application

The first inventor of the work who claims to be true and first owner or his legal

representative

For each invention separate application for a patent shall be made

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A). (D). (C). (B)
(C). (D). (A). (B)
(B). (A). D). (©)
(B). (D). (C). (A)

(A)

(B)
(C)

D)

arfas 9 yug @l yey 10 sirded sim 3 arafas wfi @ fafus gfqffy g 1§
HTdEd |

e fafa & 12 wre & sfiax 50 v & ves & = wyl fafdem o smom)

ardfass 9 %1 g H a1, S w1 e s 3 ayw s sga sue fafi ufafif)

el 3Nl & Ude & foqu stem O sraed fean srom)

I feu o fowmedi O | v I & =224 it

(D
(2)
(3)
(4)

(A). (D). (©). (B)
(C). (D). (A). (B)
(B). (A). (D). (O)
(B). (D). (O). (A)

Options:-

.1, Option ID :- 6373,
. 2, Option ID :- 6374,
. 3, Option ID :- 6375,

. 4, Option ID :- 6376,
Answer Given:- 1, Option ID : -6373

Question ID:- 1531




A type of validity based on showing that scores on the test (Predictors) are related to job
performance 1s:

(1) Test vahidity (2) Criterion validity
(3) Content validity (4) Construct validity

AT 1 T THR S AE-TS0 FaT & T e T (EeEm) w1 e wosnaria ¥, FE e

=]

(1) e A @ e e

(3) famg aga (4) A gga@
Options:-

.1, Option ID :- 6121,
« 2, Option ID :- 6122,
. 3, Option ID :- 6123,

. 4, Option ID :- 6124,
Answer Given:- 2, Option ID : -6122

Question ID:- 1512

Occaslonal sale of a commodity at a lower price abroad in order to unload an unforeseen and

temporary surplus of the commodity without reducing domestic prices is called :

(1) Persistent dumping (2) Predatory dumping

(3) Export subsidies (4) Sporadic dumping

oie] il w1 F9 fome fomn et aeq = swentom it st afasm 1 91 w8 = & oo faem 9 w0

()  =aq e (2) TR T
(3) fma e (4)  FErEtE TR
Options:-

.1, Option ID :- 6045,
. 2, Option ID :- 6046,
. 3, Option ID :- 6047,

« 4, Option ID :- 6048,
Answer Given:- 4, Option ID : -6048

Question ID:- 1587




The assests of the Partnership firm. including any sums contributed by the partners to make-
up deficiencies of capital at the time of dissolution, shall be applied in the following manner

and order:

(A) In paying each partner rateably what is due to him for advances as distinguished

from capital.
(B) In paying to each partner rateably what is due to him on account of capital.
Q) In payving the debts of the firm to third parties

(D)  Dividing among the partners in the proportion in which they were entitled to share
profits.

Choose the correct answer from the options given below:
O (©O.@A). @B, D
@  (©).®B), @A), D
3 (A ®B). (). D
4 (B).©C).A). D

ARt wiasr 61 fafe @, G faaes % wm O 6w #E F fa A gm e 6
g afvrat afiifaa &, faafafiaa wer a a3 wgm )

(A I F fum g stfim afeEi 6 s AEen g ATEE Y

(B) IS % T4 gy 1l &k B HIEER 1 g FTHE PEE FE

(C)  31=3 vai <l UfdsaM o 0l 61 YIaH S|

(D)  @rEierl & o9 38 3 § fawfaa won faed 9 o %1 feen rd &6 % #een 9

I fou mo fawedi § § wél 39 &1 =99 Hifau .

1) (0. @A) B). D
2  (©.[B). Q). D
(3) (A (®B). (). D
4 B A). D

Options:-

.1, Option ID :- 6345,
« 2, Option ID :- 6346,
. 3, Option ID :- 6347,

. 4, Option ID :- 6348,
Answer Given:- 1, Option ID : -6345

Question ID:- 1567




Skimming pricing strategy delivers results:

(A) When the size of the market is large and it 15 a growing market
(B) When the product is perceived as enhancing the customer’s status in society
(C)  When the firm uses it as an entry strategy

(D)  When the target market associates quality of the products with its price

Choose the most appropriate answer from the options given below:
(I)  (A). (B) only
(2)  (B). (D)only
(3) (B). (C) only

4 (&) (©). (D) only

— ”
7]

TR (Aes 3arA =Tell) gea-TAam weEEiE siomEeEes 2 2

(A) 9 SR 1 WA 51 F AT ST §g w6 |

(B) ¥ 391G i GHTE § WE I UTEAld Sl agH Gre A A A

(C) = fdea™ Wa% WHITG % F9 | 5@ TA07 F 7

(D) @ @%9 AR 30U il OE F HeY SHeh Fimg H T e 2

=1 fou v faewt § ¥ TEE IugEE I F =959 FA0

(1) =& (A). (B)
(2) A« (B). (D)
(3) &= (B). (C)
(4 FE4 (A) (C) (D)

Options:-

.1, Option ID :- 6265,
. 2, Option ID :- 6266,
. 3, Option ID :- 6267,

. 4, Option ID :- 6268,
Answer Given:- 2, Option ID : -6266

Question ID:- 1586




Arrange the following countries in the ascending order of their contribution to the WTO
budget 2020:

(A) China

(B) Japan

(C) Germany

(D)  United states of America

(E) United Kingdom

Choose the correct answer from the options given below:

1O (A, B). D). E)and (C)
2 (D). (A), (B). (E) and (C)
(3) (B (B). (C). (A) and (D)
4) (D), (A). (B). (C)and (E)

faefafiga gon =61 sy A 30 "9 2020 4 39k HIEH & ITHE FRE FH °d

A A
(B) WM
(C) =l

(D)  ©gEa WY AU

(E)  FATses fdren

1 feu o faweqi 4 © wdl 3w @ = Hifao .

(1) (A). (B). (D). (E) 3 (C)
@ (D). (A), B). (E) 3 (C)
(3 (B ([B).(0). (A) 3 (D)

4 (D). (A). (B). (C) 31 (E)

Options:-

.1, Option ID :- 6341,
. 2, Option ID :- 6342,
. 3, Option ID :- 6343,

. 4, Option ID :- 6344,
Answer Given:- 2, Option ID : -6342

Question ID:- 1562




Which of the following are the correct statements with regard to positive

distribution?

(A) Mean=Median=Mode

(B) Mean<Median<Mode

(C) Q; —Median<Median— @,
(D)  Q3;—Median=Median— @y
(E) Mean=Median=Mod

Choose the correct answer from the options given below:

(1
(2)
(3)
@

TR T T & geg § fetateg § 9 #-m w9 g6

(A). (D) only

(A). (C) only

(B). (C). (D) only
(B). (C). (D). (E) only

(A) ATEH > e > a5a®

(B) AEEH < OIeAH < d5e®

(C) Qs —wiieam < e — @

D) Qs —wrfeaa > mfeqw — Q

(E) A=9H = oifeas = a5a®

= f2u Tu e 5§ 9E I H 99 Hiaw

(1) a9 @A), D)

2 FaE Q). (O)

(3) F== (B). (C). (D)

(4 == B). (C). D), (B)
Options:-

.1, Option ID :- 6245,
. 2, Option ID :- 6246,
. 3, Option ID :- 6247,

. 4, Option ID :- 6248,
Answer Given:- 1, Option ID : -6245

27

=

skewed

Question ID:- 1524




15 a percentage discount rate used in capital investment appraisals which brings
the cost of a project and its future cash inflows into equality.

(1) Accounting rate of return (2) Internal rate of return

(3) Profitability Index (4) Net present value

U WiHUE Wg1 & 2 T e 34 U Haw qeeeAl § e S 2 T siea aies | s saen
Tl TS HAVETE F AEEAT & O AT AT 2

(1) =@ uiass &t (2)  =1aies Tiahe =
(3)  =AIVEA TIEF (4) TEe 999E ge
Options:-

.1, Option ID :- 6093,
. 2, Option ID :- 6094,
. 3, Option ID :- 6095,

- 4, Option ID :- 6096,
Answer Given:- 2, Option ID : -6094

Question ID:- 1554

Management According information is used for which of the following distinctive purposes

(A) Measurement
(B) Control
(C)  Recording transactions

(D)  Alternative choices

Choose the most appropriate answer from the options given below:

(1) (A). (B) and (C) only
(2) (B).(C) and (D) only
(3) (A). (B), and (D) only

(4) (A) and (C) only




TS T AT A efefEd 7 g wia-g fafie seva & fou s 27

(A) HT94
(B)  FEEm
(C)  &F-= F1 sATaeng

o

(D)  FFTE T

i fu T fomedt 7 & A s A == i

(1)  F= (A). (B) 31 (O)
(2)  #FaE (B). (C) 31 (D)
(3)  #F&E (A). (B) 31 (D)
(4)  FEE (A) 3 (C)

Options:-

.1, Option ID :- 6213,
« 2, Option ID :- 6214,
. 3, Option ID :- 6215,

. 4, Option ID :- 6216,
Answer Given:- 3, Option ID : -6215

Question ID:- 1547

Tax audit is compulsory in case of a person in a profession whose gross receipts from the
profession exceed:

(1) Rs.1 crore (2) Rs.40 lakh
(3) Rs.60 Lakh (4) Rs.50 Lakh

I % =afaq T 1 T A, 9 U9 ¥ TEe Wit e o S0 B U w6 SiRE SE A 2 7

(1) .1 %S (2) .40 @@
(3) .60 =g (4)  %.50 =@
Options:-

.1, Option ID :- 6185,
. 2, Option ID :- 6186,
. 3, Option ID :- 6187,

. 4, Option ID :- 6188,
Answer Given:- 4, Option ID : -6188

Question ID:- 1541




Which of the following is not true for supply chain mangement approach?

(1) Joint reduction in channel inventories
(2) Large breadth of supplier base to increase competition and spread risk
(3) Risks and rewards are shared over long term

(4) Companies use intermodal transportation to reach to their markets

1 0 ¥ FH-T1 Y- TEeT 9FE F wweg 0 WA A 2 7

(1)  ==g-g=h arel 5 g9 FH

(2)  widerdl va wifEw & Foa & o amgfiwaren 1 g

(3) =1 Ty | FHEE UE UAEA § ATHER

(4) SR TF Ted & (o7 wuEl g At aiaeA # e

Options:-

.1, Option ID :- 6161,
. 2, Option ID :- 6162,
. 3, Option ID :- 6163,

. 4, Option ID :- 6164,
Answer Given:- 1, Option ID : -6161

Question ID:- 1583

Match List I with List IT :
ListI List IT
(Advertising Agency in 2020) (Brand)
(A) O&M (Ogilvy and Mather) () Mastercard
(B Mec Cann Erickson (I) Nestle
(C) Trikayva Grey (III) Cadbury

(D) JWT Hindustan Thompson Associates (IV) Proctor and Gamble

Choose the correct answer from the options given below:

(1 (&) -dDp. (B) - dn. (© - adAv). O - @D

(2) A)-adD. B - @. (© —-av. @O - d@
3 @W-IMm ®-aV. © -@O. @O —Jm
@ @-@ ® -dn ©-O @D -am




gl I % @19 g+ 11 %1 foem ifau

gl I (fasmm wdadt 2020 9) g+l II (sie)
(A) 37 wg vy (e we ) () HNETHE
(B) % M e I "=
(C) Fasran 3 (IIT) ead
(D) & gy A fargrar diorsa waifiue (IV) ST uvg e

Hr feu mu faeredi @ A IR @ =Aa Aif

1 @-dn. @ -an. © -av., O - @

@ @-an ®-O (© -av, O - ad
(3) A)-d. @® - av. © - @O. (D) — {dIm
4 @W-a. @ -Jdn. © -@O. @O - av)

Options:-

.1, Option ID :- 6329,
. 2, Option ID :- 6330,
. 3, Option ID :- 6331,

« 4, Option ID :- 6332,
Answer Given:- 2, Option ID : -6330

Question ID:- 1533
Stretch goals that challenge people to achieve higher levels of success In current activities is
known as:

(1) Control stretch goals (2) Cluster stretch goals
(3) Vertical stretch goals (4) Horizontal stretch goals

faefta =a= =1 ST F TAAE A A SEeE % IeAa W O U #A h A 36 E, o oEe
iy
THE?

()  fagaor fa=ria =ea (2)  ogz faatia @5
(3) TR T we (4) &S faeim =
Options:-

.1, Option ID :- 6129,
. 2, Option ID :- 6130,
. 3, Option ID :- 6131,

. 4, Option ID :- 6132,
Answer Given:- 3, Option ID : -6131

Question ID:- 1572




On which of the following grounds, the Tribunal may order for the winding—up- of a company
or a petition submitted to it. Indicate the correct code

(A) Passing of special resolution for the winding up
(B) Conducting affairs in a fraudulent manner
(C)  Reduction in membership

(D)  Inability to pay debts

Choose the correct answer from the options given below:
(1)  (A). (B) and (C) only

(2) (A). (B) and (D) only

(3) (A). (B), (C) and (D) only

(4)  (B).(C) and (D) only

et weqa fobu 94 91 whig =rfues Fefafiad 4 | o snarl w feEd Fe 6 \JeE w1 AT ¢
Hedl 27 HE F1g =i Fifu)

(4)  TEH % fou fasry geeg w1 wifta #m

(B)  HF I ileh H FE HeEr

(C)  deegal § &4l

(D) B0 el U e
A9 feu o fawedi § 4 wél I &1 939 Fifaw .

(1) %9 (A), B) 3 (O)
(2)  F& (A), B) 3 (D)
(3)  =del (A). B). (C) 3 D)
(49  *=E B). (O 3 (D)

Options:-

.1, Option ID :- 6285,
« 2, Option ID :- 6286,
. 3, Option ID :- 6287,

. 4, Option ID :- 6288,
Answer Given:- 2, Option ID : -6286

Subject : Commerce_25NSH2_SHAAN_NOV21B

Question ID:- 2080




Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out. global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy vear for foreign direct investment.

India achieved positive growth (13%), boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms, data processing services and digital payments. In terms of individual
nations in ICT and pharmaceutical sector, China was the world's largest FDI recipient, with
flows to the Asian giant rising by 4% to 3163 billion. High-tech industries saw an increase of
11% in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down initially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
crisis.

T2 10 T R ST GRS AT S 9T AT W9 hT ST S0

FIES 19 F TS T oA TESA A1 U6 5T 9WA H e &4 1 HEw 9 e w 13% F 3 =
e i mﬂmﬁ*ﬁmmu%ﬁmwnmv@wnﬂ’mmﬂﬂqﬁwmmm?ﬂaﬂﬂﬁa‘ﬂ(mﬁ
& @) % &9 °H WWa 2020 4 13% Fig W = w1 Afvasw FAeea & &, = & v e g 2 e
=R 3 3w T9d 99 T % gued (3aE) 5 AW Seen 7% A # 9EET 2020 1 3fvas
TRIIE § 42% fT FREE 3 W 97 2019 1 1.5 TfemA sl sen @ 92 # sHEg 859 fateEn
AR STer T2 2| fagefi weas fHeaw = e a8 uwa H{R == A 9 g atear 9

wig 4 =P &= ° Fam | som ue wEnens gig (13%) TE #1158 e § fem w afam F S
e S T HE-uEE e 3R U R §3% dfg wE SR W $27 Ml SR R T e g S
THEEl d i 9 § UH 7 U gAgid H 926 He| 9Rd @ 9, 9 w2 -aiivea wiewE, $a mEEs
sl iR fstadm wam afea sEd wmefl #iv fstada ami o, st e ° angla w0 = 2| w4
AR T & § AEI-A 59 F T9 H, TRE F TEEE 57 6 TR THEGl 59 F ©9 8§ gHA 5 72E
T ¥R FE AR 4% ¥ wGH 163 fafom wudid s @1 T 3= dreteE s 8 2020 ® 1% Fi9ig
7% TR TE-IRE U 3R U 54% F g =

T S A atEteE 8 2020 F AWY § 56 A, 99 9@ 9 7 s o 9 R 3o 1 gl
w1 331 B faan % o wgn-udiE wien A gt & ositugen s @ @ ueihd Jiaggl 9 @g
FFRT FAEE % AGEET % G0 a0W 7 E A

Which statement is not true about China?

(1)
2
(3
(4)

FDI inflows increase by 4%
International M&A increase by 54%
Highest FDI in ICT and Pharmaceutical sector

USD 1.5 Trillion sized economy




frferfiad 4 9 =i &% gay 4 =9 51 %99 8581 986 27
(1)  UREITE 3@ vaTR ° 4% &1 9fg 7 2
(2)  siawigE vy 3 v b 54% & gfg g 2
(3)  SsHid 3wl & 0 I=n UEdag
(4)  sAjeg=req &1 3MHR 1.5 fofamm st sen
Options:-
.1, Option ID :- 8317,
. 2, Option ID :- 8318,

. 3, Option ID :- 8319,

. 4, Option ID :- 8320,
Answer Given:- 4, Option ID : -8320

Question ID:- 2078

Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trllion in 2019.China and India were two major outliers in a
gloomy year for foreign direct investment.

India achieved positive growth (13%), boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms., data processing services and digital payments. In terms of individual
nations 1n ICT and pharmaceutical sector, China was the world's largest FDI recipient, with
flows to the Asian giant rising by 4% to 3163 billion. High-tech industries saw an increase of
11% in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down Initially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets In overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
crisis.




20 0 T R AT A% AT ATETET 36 9 SATHT T %1 I A0

FIES 19 F T9E H 90 TR 19 UK 50 9WA F fetEm &3 0 fEw 3 semEn e 13% 6 3ty =
mn??nmﬂmq*ﬂmﬂmuﬂmﬂumvﬁvﬂq’mwwﬁwmwm?ﬂaﬂﬂﬁaﬂ(mﬁ
| ﬂ?]?ﬁmnmﬁz{)mHU Jig T = | Avaw AFEm F =, S0 F v e g 2 e
IPEHE TF E A% g WeRE R

Wahtﬁmwﬁwng%m(m)mmﬁ T 7% AR STEW 2020 § dfvas
THSIHE H 42% i (TEe AR 317 92 2019 § 1.5 2l mwuwwmsww
AT et T2 2| Taoul weas Faw & e ot 9 yna #iR A A g g sfeardt o)

wid 4 fs5dim &= & o | seEn am s gl (13%) wm #) o5\ &9 9 faem = afaen # Sfo
T S T H-TEE T SR T H §3% dfg 5E SR 9 $27 ffeEs SR A T sEeE 9 S
THEE @ i 9E § R 7 U gEEE H gEr e 9na @ g, e - W, 22 weE
garal @i f3fEdm gam afeq snedi wel wn fzEde aa 4, s=2 9o 1 guga = w 3| wEd A
SR BT & T STORT-3TE 59 F E9 0, UEE 5 TEE o SH RS WAEal 5 F ®9 0 g 0 7am
T AR TE A% 4% H 95H 163 fieEm A Sen w1 T 3= i S| | 2020 ® 11% #i 3
7% ¥ W -TEE v AR U E 54% i 37 72

TR 3 e MEEEE H 2020 % AR 5 520 S, a9y ﬂﬁi{ﬁﬂmﬁﬂﬁ?wwﬁaﬁg’ﬁ
Y 33 F R F o ap-uiE a0 et % siimen 3 G O Weidd iagal 9 @Y

Annual increase /decrease in India’s annual FDI inflows and Global FDI flows, respectively

are:
(1) USD 27 billion and USD 163 billion
(2) +13% and —42%

(3) —4% and +11%

(4) Data not available

WA H UHSIATE % Ad:varE iR dfvas vhdismg vare d arftes gfa /frree s e @ 2

(1) 27 faferm sl gren 9 163 fafaam smfh gen
(2) +13% 3 -42%
(3)  -4% 3N +11%

(4) 3% 3=y A 2

Options:-

.1, Option ID :- 8309,
. 2, Option ID :- 8310,
. 3, Option ID :- 8311,

. 4, Option ID :- 8312,
Answer Given:- 2, Option ID : -8310

Question ID:- 2076




Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out. global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy vear for foreign direct investment.

India achieved positive growth (13%), boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms, data processing services and digital payments. In terms of individual
nations in ICT and pharmaceutical sector, China was the world's largest FDI recipient, with
flows to the Asian giant rising by 4% to 3163 billion. High-tech industries saw an increase of
11% in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down initially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
crisis.

T2 10 T R ST GRS AT S 9T AT W9 hT ST S0

FIES 19 F TS T oA TESA A1 U6 5T 9WA H e &4 1 HEw 9 e w 13% F 3 =
pigeal mﬂmﬁﬂmﬂmuﬁﬁﬂmnmﬁwnwmﬂﬂwmm?ﬂaﬂﬂﬁa‘ﬂ(mﬁ
2 311E) & HF H WA 2020 § 13% gfg WH F w1 dfvaw faeear & o=, $7 & v o= o 2 e
=R 3 9% Tad 59 T % guer (3E) 5N AW SN 3% A # 9O 2020 1 3fvas
TRAIE § 42% fT FREE 3 W 97 2019 ° 1.5 femA sl sen O 92 # sHEia 859 fateEd
AR STer T2 2| fageft weas few = femser ad 8 9wa 1R = A 7 g atearE 9

wig 4 =2 &= 7 Fam 1 som ae mEnens gig (13%) T8 #) o5m A § fem w afamm F S
T S = H-aEE T SR U A $3% gig 'S SR TR 327 ffeEe SR R T SEEt 9 e
Toogial O i 9Rd § U5 7 U gEgid H 926 He| 9nd 7 9, f9eEe = i-aiivea wewE, 22 wEa
sl iR fstadm wam afea sEd wmefl #iv fstada ami o, st e ° angla w0 = 2| w4
AR T & § AEI-A 59 F T9 H, TRE F TEEE 57 6 TR THEGl 59 F ©9 8§ gHA 5 72E
T ¥R FE AR 4% ¥ wGH 163 fafom wudid s @1 T 3= dreteE s 8 2020 ® 1% Fi9ig
7% TR TE-IRE U 3R U 54% F g =

T S A atEteE 8 2020 F AWY § 56 A, 99 9@ 9 7 s o 9 R 3o 1 gl
w1 331 B faan % o wgn-udiE wien A gt & ositugen s @ @ ueihd Jiaggl 9 @g
FFRT FAEE % AGEET % G0 a0W 7 E A

Which countryouthined in the world in terms of FDI inflows in ICT and pharmaceutical
sector?

(1) India
(2) USA
(3) Israel

(4 China




A a vl & 4 vrdianE vare & Hed d favg § e e = vevk waitm @ Ry

(1)
(2)
(3)
@
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A
EiE|

Options:-

.1, Option ID :- 8301,
« 2, Option ID :- 8302,
. 3, Option ID :- 8303,

. 4, Option ID :- 8304,
Answer Given:- 4, Option ID : -8304

Question ID:- 2079

Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out, global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trllion in 2019.China and India were two major outliers in a
gloomy year for foreign direct investment.

India achieved positive growth (13%), boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms., data processing services and digital payments. In terms of individual
nations 1n ICT and pharmaceutical sector, China was the world's largest FDI recipient, with
flows to the Asian giant rising by 4% to 3163 billion. High-tech industries saw an increase of
11% in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down Initially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets In overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
crisis.




20 0 T R AT A% AT ATETET 36 9 SATHT T %1 I A0

FIES 19 F T9E H 90 TR 19 UK 50 9WA F fetEm &3 0 fEw 3 semEn e 13% 6 3ty =
mnﬁ|mﬂmq*ﬁmmummwumv@vﬂwwwﬁwmmm?ﬂaﬂﬂﬁam(w
gt ﬂ'l”'J?ﬁ?ﬂHW?I?{}"'OHIB I T F T AfvaF TEaa F &=, F7 5 v e om 2 e
IPEHE TF E A% g WeRE R
Wahtﬁmwzﬁmng%m(m)m?ﬁ'ﬁwﬁ?%nﬁﬁv’#mﬂr 2020 # AfTa=
THLIAE H 42% I FoEe oE #1 3® 2019 | 1.5 ffomd smief sen @ g2 # sgEg 859 fafem
AT et T2 2| Taoul weas Faw & e ot 9 yna #iR A A g g sfeardt o)

wid 4 fs5dim &= & o | seEn am s gl (13%) wm #) o5\ &9 9 faem = afaen # Sfo
(G U et (e e i o fec el Swomfsm?-f $27 Tera" S 7 T FEEET 9 S
THEE @ i 9E § R 7 U gEEE H gEr e 9na @ g, e - W, 22 weE
AT AR Tt e Aied el Wl SN fstadm & 9, W= 2 § meEid W T 8| Sl 9
SR BT & T STORT-3TE 59 F E9 0, UEE 5 TEE o SH RS WAEal 5 F ®9 0 g 0 7am
T AR TE A% 4% H 95H 163 fieEm A Sen w1 T 3= i S| | 2020 ® 11% #i 3
7% ¥ W -TEE v AR U E 54% i 37 72

ety STt e wiafaft § 2020 F SRy | w56 A, 9 e 9 e s o 5 9w gew | gig
T 331 W famn & fov ang-udE s A st F sfwee s @9 9 aaifas vfaggt @ @ g
FHFR HIET F AGUET F o G w7 T A

India and Turkey are attracting record numbers of deals in

(1) Overall production
(2) IT consulting and digital sectors
(3) Pharmaceutical and allied sectors

(4 GDP and Per Capita Income

e #A gl 7 eiletiga 7 O f9m &9 8 st 9o ¥ wnEid 2w Y
(1) =¥ I
(2) @A w7 = g
(3)  wEl 9 "H=A A
(4)  SIEd a iq =aE A=
Options:-
.1, Option ID :- 8313,
. 2, Option ID :- 8314,

. 3, Option ID :- 8315,

« 4, Option ID :- 8316,
Answer Given:- 2, Option ID : -8314

Question ID:- 2077




Read the passage and answer the question

Recuperating of the impact of Covid-19. India attained 13% growth boosted by investments in
the digital sector. Infrastructure and energy deals also propped up M&A deals in India. As a
result India could achieve 13% growth in Foreign Direct Investment (FDI) in 2020 Amidst
global collapse, China is the only other country that has shown remarkably high FDI growth.

An ‘Investment trends monitor’ issued by the United Nations Conference on Trade and
Development (UNCTAD) pointed out. global FDI collapsed in 2020 by 42% to an estimated
USD 859 billion from USD 1.5 trillion in 2019.China and India were two major outliers in a
gloomy vear for foreign direct investment.

India achieved positive growth (13%), boosted by investments in the digital sector where the
investments continued, particularly through acquisition. Cross border M&A grew 83% to $27
billion. Infrastructure and energy deals also propped up M&A deals in India. India and
Turkey are attracting good numbers of deals in IT consulting and digital sectors, including e-
commerce platforms, data processing services and digital payments. In terms of individual
nations in ICT and pharmaceutical sector, China was the world's largest FDI recipient, with
flows to the Asian giant rising by 4% to 3163 billion. High-tech industries saw an increase of
11% in 2020, and cross-border M&As rose by 54%.

“Although their investment activity slowed down initially in 2020, they are now set to take
advantage of low interest rates and increasing market values to acquire assets in overseas
markets for expansion. as well as rivals and smaller innovative companies affected by the
crisis.

T2 10 T R ST GRS AT S 9T AT W9 hT ST S0

FIES 19 F TS T oA TESA A1 U6 5T 9WA H e &4 1 HEw 9 e w 13% F 3 =
pigeal mﬂmﬁﬂmﬂmuﬁﬁﬂmnmﬁwnwmﬂﬂwmm?ﬂaﬂﬂﬁa‘ﬂ(mﬁ
2 311E) & HF H WA 2020 § 13% gfg WH F w1 dfvaw faeear & o=, $7 & v o= o 2 e
=R 3 9% Tad 59 T % guer (3E) 5N AW SN 3% A # 9O 2020 1 3fvas
TRAIE § 42% fT FREE 3 W 97 2019 ° 1.5 femA sl sen O 92 # sHEia 859 fateEd
AR STer T2 2| fageft weas few = femser ad 8 9wa 1R = A 7 g atearE 9

wig 4 =2 &= 7 Fam 1 som ae mEnens gig (13%) T8 #) o5m A § fem w afamm F S
T S = H-aEE T SR U A $3% gig 'S SR TR 327 ffeEe SR R T SEEt 9 e
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The author opines in the paragraph that which of the following has helped to acquire assets
in overseas markets for expansion.

(1) Low Interest rates and increasing market values
(2) low per capita incomes and high resources
(3) Attractive markets and overseas valuations

(4) Governmental support and incentivization to promote cross border trade.
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Options:-

.1, Option ID :- 8305,
. 2, Option ID :- 8306,
. 3, Option ID :- 8307,

. 4, Option ID :- 8308,
Answer Given:- 1, Option ID : -8305

Subject : Commerce_25NSH2_SHAAN_NOV21C

Question ID:- 1607

Read the following passage and answer guestion in the most appropriate manner.

Management theories help organizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on thelr main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory, basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far. and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for cne organization may not
be relevant for another. Therefore. when one theory does not fit a particular situation, it is
important to explore the option of developing a new theorv that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive,
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What helps leadership to focus on their main goal?

(A) Management theories
(B) Organizational structure
(C) Inter-personal relations
(D)  Effective HR policies

(E) Government Directives

Choose the correct answer from the options given below:

(1) (A (B). (C) only
@  (B).(C). (D) only
(3)  (A), (B) only

(4)  (A)only
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Options:-

.1, Option ID :- 6425,
. 2, Option ID :- 6426,
. 3, Option ID :- 6427,

. 4, Option ID :- 6428,
Answer Given:- 4, Option ID : -6428

Question ID:- 1606

Read the following passage and answer guestion in the most appropriate manner.

Management theories help organizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on thelr main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory, basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revelution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive.
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Given below are two statements:

Statement I : Management is the ultimate tool for achieving business goals.

Statement II : It was management only which initiated industrial revolution.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement IT is false

(4) Statement I is false but Statement II is true
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Options:-

.1, Option ID :- 6421,
. 2, Option ID :- 6422,
. 3, Option ID :- 6423,

. 4, Option ID :- 6424,
Answer Given:- 3, Option ID : -6423

Question ID:- 1609

Read the following passage and answer guestion in the most appropriate manner.

Management theories help organizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on their main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory, basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far. and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for one organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it is
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive,
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Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reason R :

Assertion A: The industrial revolution brought better and faster technology allowing
companies to perform more efficiently than ever before and gave them ability
to dramatically increase their output.

Reason R : In order to meet demand, company leadership had to ensure their employvees
were productive.

In the light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both A and R are correct and R iz the correct explanation of A
(2) Both A and R are correct and R iz NOT the correct explanation of A

(3) A 1s correct but R 1s not correct

(4) A is not correct but R is correct
4= 71 FuA 5u U 2| v AT9EEd (Assertion A) F EY U [AEd 2 A TE 3% ¥ (Reason R)
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Options:-

.1, Option ID :- 6433,
. 2, Option ID :- 6434,
« 3, Option ID :- 6435,

- 4, Option ID :- 6436,
Answer Given:- 2, Option ID : -6434

Question ID:- 1608




Read the following passage and answer guestion In the most appropriate manner.

Management theories help organizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on thelr main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory, basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for cne organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it 1s
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive,
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In the paragraph. what is meant by “There 1s no such thing as a non-size fits

management theory”

(A)
(B)
(C)

(D)

Management theories keeps on changing
There are different theories for different situations
A business can't grow without management theories

Management theories are non-scientific

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A). (B). (C) only
(B). (C). (D) only
(C). (D) only

(A). (B) only
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2
(3)

&)

4 (A), (B). (C)
*#ad (B), (C). (D)
#ad (C), (D)

%4 (A), (B)

Options:-
.1, Option ID :- 6429,

. 2, Option ID :- 6430,
. 3, Option ID :- 6431,

. 4, Option ID :- 6432,
Answer Given:- 4, Option ID : -6432
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Question ID:- 1610




Read the following passage and answer guestion In the most appropriate manner.

Management theories help organizations to focus, communicate, and evolve. Using
management theory in the workplace allows leadership to focus on thelr main goals. When a
management style or theory is implemented, it automatically streamlines the top priorities for
the organization. Management theory also allows us to better communicate with people we
work with which in turn allows us to work more efficiently. By understanding management
theory, basic assumptions about management styles and goals can be assumed and can save
time during daily interactions and meetings within an organization.

Theories can only reach so far, and management theories are no exception. There is no such
thing as a one-size-fits-all management theory. What may work for cne organization may not
be relevant for another. Therefore, when one theory does not fit a particular situation, it 1s
important to explore the option of developing a new theory that would lead in a new, more
applicable direction. While some theories can stand the test of time, other theories may grow
to be irrelevant and new theories will develop in their place.

From the late 1700s through the early 1900s, the Industrial Revolution brought
extraordinary change to the workplace and forever transformed the way companies operate.
The Industrial Revolution brought better and faster technology allowing companies to perform
more efficiently than ever before and gave them the ability to dramatically increase their
output. In order to meet demand, company leadership had to ensure their employees were
productive,
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Which among the following 1s NOT a correct statement?

(1) Industrial revolution was a turning point in Business operations.
(2) Management theories are ever changing

(3) Good management makes communication flow better

(4) Management always moves in a straight line
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Options:-

.1, Option ID :- 6437,




« 2, Option ID :- 6438,
. 3, Option ID :- 6439,

. 4, Option ID :- 6440,
Answer Given:- 4 , Option ID : -6440
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